EYLE

Products

Spare parts for passenger cars




Body/Cabin

Body - Interior fittings

Brakes

Disc brake « Drum brake « Hydraulics

Drive train/Transmission

Drive shafts - Joints

Electrics

Engine

Engine/Cooling/Clutch

Cooling system « Fuel system « Lubrication system

Steering

Tie rod assemblies

Suspension

Control arms - Stabilizer - Suspension / damping
Wheel hubs / Wheel bearings

Index MEYLE no. — Ref. no.

Index Ref. no. — MEYLE no.



MEYLE

Products

Contents

Body/Cabin

Body, Interior fittings

Cabin air filter Wiper Blade
Trunk-/tailgate shock

Brakes

Disc brake, Drum brake, Hydraulics

Brake disc Brake pad set
Brake drum Brake shoe kit
Brake hose

Drive train/Transmission

Drive shafts, Joints

Boot kit, C.V. joint
C.V.joint kit

Electrics

Engine

Glow plug
Sender unit, coolant temperature

Engine/Cooling/Clutch

Cooling system, Fuel system, Lubrication system

Air filter Fuel pump
Fuel filter QOil filter

Steering

Tie rod assemblies

Axial rod
Tie rod end

Suspension
Control arms, Stabilizer, Suspension / damping, Wheel hubs / Wheel bearings
Ball joint Control arm bushing

Bushing, stabilizer Dust cover kit, shock absorber
Control arm Shock absorber

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Brake shoe set, parking brake
Wheel cylinder

Thermostat
Water pump

Stabilizer link
Wheel bearing kit
Wheel hub

13

38

46

52

75

82






Suzuki

M EYLE’
Products Body/Cabin

33-40910 0002

Trunk-/tailgate shock
81800-62831 1

Notes

Right
Power Output F [N] 190
Length [mm] 610
References
81800-62831 81850-62B20
Counterpart

33-40910 0003

Application info
Swift 11 (03/89-12/04)

33-40910 0003

Trunk-/tailgate shock
81800-62841

Notes

Left
Power Output F [N] 190
Length [mm] 610
References
81800-62841 81860-62B20
Counterpart

33-40 910 0002

Application info
Swift 11 (03/89-12/04)

. 33-40910 0000

Trunk-/tail hock

u /ta gate Shoc 81850-84E00
Notes

Right

Power Output F [N] 470
Length [mm] 642
References
81850-83E10 81850-84E00
81850-83E10-000 81850-84E00-000

81850-83E10-X10

Counterpart
33-40 910 0001

Application info
Wagon R+ Il (MM) (05/00--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 1



Suzuki o
MeE>LE
Body/Cabin TesTeETE
23-409100011 Trunk-/tailgate shock
81850-86G00
Notes
Power Output F [N] 280
Length [mm] 550
References
81850-86G00 81860-86G00
81850-86G00-X10 81860-86G10

81850-86G10

Application info
Ignis | (FH) (10/00-12/05) Ignis 11 (09/03--)

33-409100010

Trunk-/tailgate shock
81860-79J01

Notes

Power Output F [N] 420

Length [mm] 445

References

81850-79J00 81860-79J01

81860-79J00

Application info
SX4 (06/06--)

33-40910 0001

Trunk-/tailgate shock
81860-84E00 g

Notes

Left

Power Output F [N] 470

Length [mm] 642

References

81860-83E10 81860-84E00

81860-83E10-000 81860-84E00-000

81860-83E10-X10

Counterpart
33-40 910 0000

Application info
Wagon R+ Il (MM) (05/00--)

2 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Application info
Samurai (11/88-12/04)

Wiper Blade

Notes

Length [mm]
Length [in]

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Application info

Alto | (06/82-12/85)
Alto V (GF) (01/09--)

Front
300
12

Rear
300
12

Front
330
13

1197 Wulf Gaertner Autoparts AG - www.meyle.com

&

Suzuki

Body/Cabin

029 300 1200

+$
»
@’

SJ (09/81-08/90)

029300 1213

Grand Vitara Il (JB) (04/05--)

&

029 330 1300

"
@’

SX4 (06/06--)



Suzuki % |M I
Body/Cabin Product=s

029 400 1600 .
Wiper Blade
Notes
Front
Length [mm] 400
Length [in] 16
Observe service information
Application info
Carry (FD) (02/99--) Jimny (09/98--)
029 425 1700 .
Wiper Blade
Notes
Front
Length [mm] 425
Length [in] 17
Observe service information
Application info
Swift | (10/83-12/89)
029 450 1800 .
Wiper Blade
Notes
Front
Length [mm] 450
Length [in] 18

Observe service information

4 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Wiper Blade

Application info

Baleno (03/95-05/02)
Ignis | (FH) (10/00-12/05)
Ignis 11 (09/03--)

Jimny (09/98--)

Liana (07/01--)

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Application info

Grand Vitara | (FT, GT) (03/98-09/05)
Grand Vitara Il (JB) (04/05--)

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Application info

Baleno (03/95-05/02)
Wagon R+ | (EM) (10/97-05/00)

Front
475
19

Front
500
20

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Swift Il (02/05--)

Wagon R+ | (EM) (10/97-05/00)
Wagon R+ Il (MM) (05/00--)
X-90 (EL) (09/95-12/97)

&

Suzuki
Body/Cabin

029 450 1800

029475 1900

o
”

Ignis | (FH) (10/00-12/05)
Ignis 11 (09/03--)

&

029 500 2000

”
O’

Wagon R+ Il (MM) (05/00--)



Suzuki

Body/Cabin

COM

EYLE’

Prroducts

029 530 2100

Application info
Alto V (GF) (01/09--)

029 550 2200

Application info
Liana (07/01--)

029 650 2600

Application info
SX4 (06/06--)

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Swift 11 (02/05--)

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Wiper Blade

Notes

Length [mm]
Length [in]
Observe service information

Front
530
21

Front
550
22

Front
650
26

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
95860-51K00

Application info
Splash (01/08--)

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

95860-58J00
95860-62J00
95860-62J00-000

Application info

Swift Il (02/05--)
Swift IV (10/10--)

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
95860-63J10

Application info

Swift Il (02/05--)
Swift IV (10/10--)

Particulate Filter
Filter Insert

199

142

30

95860-51K00-000

Particulate Filter
Filter Insert

184

179

30

95860-63J10
95860-63J10-000

Activated Carbon Filter
Filter Insert

185

178

30

95861-71L00

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Body/Cabin

6123190018

95860-51K00

SX4 (06/06--)

SX4 (06/06--)

31-12319 0006

95860-62J00-000

31-12 320 0006

95860-63J10

1



Suzuki |M I
Body/Cabin Product=s

6123190010

95860-78F10

Cabin air filter

Notes
Particulate Filter
Filter Insert
Length [mm] 235
Width [mm] 192
Height [mm] 17.5
References

95860-78F10

Application info

Ignis | (FH) (10/00-12/05) Wagon R+ | (EM) (10/97-05/00)
Ignis 11 (09/03--) Wagon R+ Il (MM) (05/00--)

33-12319 0008

95860-80J00

Cabin air filter

Notes
Particulate Filter
Filter Insert
Length [mm] 204
Width [mm] 176
Height [mm] 30
References
95860-80J00 95860-80J00-000
Application info
Swift Il (02/05--) SX4 (06/06--)

33-12 3200001

95860-81A10

Cabin air filter

Notes
Activated Carbon Filter
Filter Insert
Length [mm] 217
Width [mm] 185
Height [mm] 20
References
95860-81A00 95860-81A10
95860-81A00-000 95860-81A10-000
95860-81A01 95860-81A20
95860-81A01-000 95860-81A20-000

Application info
Jimny (09/98--)

8 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

95860-81A00
95860-81A00-000
95860-81A01
95860-81A01-000

Application info
Jimny (09/98--)

Cabin air filter

Notes

Length [mm]
Width 1 [mm]
Length 1 [mm]
Width [mm]
Height [mm]

References

95861-54G00
95861-54G00-000

Application info
Liana (07/01--)

Cabin air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
95861-54J00

Particulate Filter
Filter Insert

217

185

20

95860-81A10
95860-81A10-000
95860-81A20
95860-81A20-000

without frame
Particulate Filter
Filter Insert

219

192

206

226

20

95861-54G00-A00
95861-54G00-B00

Particulate Filter
Filter Insert
263.5

198.5

36.8

95861-54J00-000

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Body/Cabin

33-12 319 0001
95860-81A20

33-12 319 0007
95861-54G00

33-12319 0002
95861-54J00

1



Suzuki |M I
Body/Cabin Product=s

33-12319 0002 Cabin air filter
95861-54J00

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-12 320 0002 . .
Cabin air filter
95861-54J00
Notes
Activated Carbon Filter
Filter Insert
Length [mm] 257
Width [mm] 198
Height [mm] 30
References
95861-54J00 95861-54J00-000
Application info
Grand Vitara | (FT, GT) (03/98-09/05)
33-12319 0004 e
Cabin air filter
95861-64J00
Notes
Particulate Filter
Filter Insert
Length [mm] 270
Width [mm] 202
Height [mm] 20
References
95861-64J00 95861-64J01
95861-64J00-000 95861-64J01-000

Application info
Grand Vitara Il (JB) (04/05--)

10 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

M EYLE’
Products Body/Cabin

33-12 320 0004
95861-64J00

Cabin air filter

Notes
Activated Carbon Filter
Filter Insert

Length [mm] 270

Width [mm] 202

Height [mm] 20

References

95861-64J00 95861-64J01

95861-64J00-000 95861-64J01-000

Application info
Grand Vitara Il (JB) (04/05--)

33-123190003/S

95861-65D00

Cabin air filter

Notes
Particulate Filter
Filter Insert
Length 2 [mm] 213
Width [mm] 108
Height [mm] 17
Kit
References
95861-65D00 95861-65D00-000

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-12320 0003/S

95861-65D00

Cabin air filter

Notes
Activated Carbon Filter
Filter Insert

Length [mm] 213

Width [mm] 108

Height [mm] 17
Kit

References

95861-65D00 95861-65D00-A00

95861-65D00-000

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 11



Suzuki |M I
Body/Cabin Product=s

33-12319 0005
95861-M68K10

Cabin air filter

Notes
Particulate Filter
Filter Insert

Length [mm] 193

Width [mm] 162

Height [mm] 19

References

95861-M68K10 95861-M68K10-B00

95861-M68K10-000

Application info
Alto Il (EC), lll (EF), IV (FF) (09/85-) Alto V (GF) (01/09-)

6123200015

99000-990N0

Cabin air filter

Notes
Activated Carbon Filter
Filter Insert

Length [mm] 235

Width [mm] 193

Height [mm] 15

References

99000-990NO

Application info

Ignis | (FH) (10/00-12/05) Wagon R+ | (EM) (10/97-05/00)
Ignis 11 (09/03--) Wagon R+ Il (MM) (05/00--)

12 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

MeYLE

Products Bra keS

33-15521 0003

Brake disc
55211-56B00
Notes
Front Axle
Number of Holes 5
Brake Disc Thickness [mm] 17,0
Bolt Hole Circle @ [mm] 140
Height [mm] 46.1
QOuter Diameter [mm] 287 2
Minimum Thickness [mm] 15
Centering Diameter [mm] 107
Vented
References
55211-56B00
Application info
Jimny (09/98--) Vitara | (ET, TA) (07/88-10/02)
. 33-15521 0000
Brake disc
55211-60A00
Notes
Front Axle
Number of Holes 5
Brake Disc Thickness [mm] 10,0
Bolt Hole Circle @ [mm] 139.5
Height [mm] 46.2
Quter Diameter [mm] 290
Minimum Thickness [mm] 8
Centering Diameter [mm] 107
Solid
References
55211-60A00
Application info
Jimny (09/98--) Vitara | (ET, TA) (07/88-10/02)
Samurai (11/88-12/04) X-90 (EL) (09/95-12/97)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 13



Suzuki

Brakes

14

33-15521 0015
55211-65D01

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-15 521 0006
55211-65D11

Application info

Grand Vitara | (FT, GT) (03/98-09/05)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm)]
Minimum Thickness [mm]
Centering Diameter [mm]

References
55211-65D01

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm)]
Minimum Thickness [mm]
Centering Diameter [mm]

References
55211-65D11

MeEeYLE

Prroducts

Front Axle
5

17

140

29

287

15

108.2
Vented

55211-67D01

Front Axle
5

22,0

140

29

310

20

108.3
Vented

55211-65D12

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

QOuter Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
55211-65J00

Application info
Grand Vitara Il (JB) (04/05--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References

55211-82000
55311-60B11
55511-78400

Application info

Alto | (06/82-12/85)
Super (07/85-03/99)

Front Axle
5

25,0

114.3

Vented
Chrome-(VI)- free passivation

55211-65J01

Front Axle
4

10,0

102

33

215

8

86

Solid

55511-78401
55511-82000
55511-82001

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki
Brakes

33-155210007/PD

55211-65J00

56-15 521 0000

55211-82000

Swift | (10/83-12/89)
Swift 11 (03/89-12/04)

15



Suzuki

Brakes

16

33-15 521 0002
55311-60B30

Application info

Alto Il (EC), Il (EF), IV (FF) (09/85--)
Swift | (10/83-12/89)

33-15521 0010

55311-61G00

Application info
Baleno (03/95-05/02)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm)]
Minimum Thickness [mm]
Centering Diameter [mm]

References

55311-60B20
55311-60B30

Swift Il (03/89-12/04)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References

55311-60G00
55311-60G01

MeEeYLE

Prroducts

Front Axle
4

17,0

114.3

Vented

55311-80F00
55311-80F01

Front Axle
4

20,0

100

49.5

235

18

60

Vented

55311-61G00
55311-61G01

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

MeYLE

Products Bra keS

33-15521 0011

Brake disc
55311-62G01

Notes

Front Axle
Number of Holes 4
Brake Disc Thickness [mm] 20,0
Bolt Hole Circle @ [mm] 100
Height [mm] 50
QOuter Diameter [mm] 246 2
Minimum Thickness [mm] 18
Centering Diameter [mm] 60

Vented
References
55311-62G00 55311-62G02
55311-62G01 55311-62G03
Application info
Baleno (03/95-05/02) Liana (07/01--)
Brake disc 33-15521 0004

55311-62J00

Notes

Front Axle
Number of Holes 4
Brake Disc Thickness [mm] 20,0
Bolt Hole Circle @ [mm] 100
Height [mm] 40
Outer Diameter [mm] 252
Minimum Thickness [mm] 18
Centering Diameter [mm] 60

Vented
References
55311-62J00
Application info
Splash (01/08--) Swift 11l (02/05--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 17



SUZUki IM E)YLE(E

Brakes Prroducts

33-155210013/PD

55311-68L00

Application info
Swift IV (10/10-)

33-15521 0012

55311-75F00

Application info

Alto Il (EC), Il (EF), IV (FF) (09/85--)
Wagon R+ | (EM) (10/97-05/00)

18

Brake disc

Notes

Number of Holes
Brake Disc Thickness [mm]

Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
55311-68L00

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
55311-75F00

Wagon R+ Il (MM) (05/00--)

Front Axle

4

22,0

without wheel hub
100

40.1

256

20

60

Vented
Chrome-(VI)- free passivation

Front Axle
4

17,0

100

49.2

231

15

60

Vented

55311-M75F00

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

QOuter Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References

55311-79J01
55311-79J02

Application info
SX4 (06/06-)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References

55311-79J01
55311-79J02

Application info
SX4 (06/06--)

Front Axle
5

22,0

114.3

47

280

20

62
Vented

55311-80J02

Front Axle

5

22,0

114.3

47

280

20

62

Vented

Chrome-(VI)- free passivation

55311-80J02

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Brakes

33-15 521 0005

55311-79J01

33-15521 0005/PD

55311-79J01

19



SUZUki IM E)YLE(E

Brakes Prroducts

33-15521 0009 .
Brake disc
55311-80G00
Notes
Front Axle
Number of Holes 4
Brake Disc Thickness [mm] 17
Bolt Hole Circle @ [mm] 100
Height [mm] 49.2
2 Outer Diameter [mm)] 257
Minimum Thickness [mm] 15
Centering Diameter [mm] 60
Vented
References
55311-80G00 55311-80G02
Application info
Ignis | (FH) (10/00-12/05) Ignis 11 (09/03--)
615521 6023 .
Brake disc
55311-83E00
Notes
Front Axle
Number of Holes 4
Brake Disc Thickness [mm] 12,0
Bolt Hole Circle @ [mm] 100
Height [mm] 44
Outer Diameter [mm)] 247
Minimum Thickness [mm] 10.5
Centering Diameter [mm] 60
Solid
References
55311-83E00
Application info
Wagon R+ Il (MM) (05/00--)
6155216039 .
Brake disc
55311-86G02
Notes
Front Axle
Number of Holes 4
Brake Disc Thickness [mm] 17,0
Bolt Hole Circle @ [mm] 100
Height [mm] 49
Outer Diameter [mm)] 253
Minimum Thickness [mm] 15
Centering Diameter [mm] 60
Vented
References
55311-84E01 55311-86G02

20 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake disc

Application info
Ignis Il (09/03--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Bolt Hole Circle @ [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
55311-M68K10

Application info
Alto V (GF) (01/09--)

Brake disc

Notes

Number of Holes

Brake Disc Thickness [mm]
Height [mm]

Outer Diameter [mm]
Minimum Thickness [mm]
Centering Diameter [mm]

References
55611-55L00

Application info
SX4 (06/06--)

Front Axle
4

20,0

100

51.5

231

18

60

Vented

Rear Axle

5

9,0

43.4

278

8

62

Solid

Chrome-(VI)- free passivation

55611-55L01

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Brakes

615521 6039

55311-86G02

Wagon R+ Il (MM) (05/00--)

33-15 521 0008

55311-M68K10

33-15 523 0002/PD

55611-55L00

21



SUZUki IM E)YLE@)

Brakes Prroducts

33-15523 0004/PD Brake disc
55611-68L00
Notes
Rear Axle
Number of Holes 4
Brake Disc Thickness [mm] 9,0
without wheel hub
Bolt Hole Circle @ [mm] 100
2 Height [mm] 43.2
Outer Diameter [mm] 259
Minimum Thickness [mm] 8
Centering Diameter [mm] 62
Solid
Chrome-(VI)- free passivation
References

55611-68L00

Application info
Swift IV (10/10-)

025214 1814
Brake pad set
00000-A00906
Notes
Front Axle
with anti-squeak plate
Brake System Lucas Girling
Width [mm] 99
Lo X Height [mm] 615
Thickness [mm] 14.5
not prepared for wear indicator
References
[ I\ ] J ] 00000-A00906 00000-A01225
Application info
Samurai (11/88-12/04)
025 243 0115/W Brake pad set
55200-50J02
Notes
Front Axle
with anti-squeak plate
Brake System Akebono
Width [mm] 123
Height [mm] 55.5
Thickness [mm] 154
excl. wear warning contact
References
I R /] E 55200-50J01 55200-50J02

22 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake pad set

Application info

Grand Vitara | (FT, GT) (03/98-09/05)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55200-56831
55200-56870

Application info

Grand Vitara | (FT, GT) (03/98-09/05)

Jimny (09/98--)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55200-60A41

Application info

Vitara | (ET, TA) (07/88-10/02)

Front Axle

with anti-squeak plate
Akebono

2

116.5

455

15.4

with acoustic wear warning

55200-56871
55200-84A00

Front Axle

with anti-squeak plate
Akebono

2

103.4

43.6

15

with acoustic wear warning

55200-63810

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki
Brakes

025243 0115/W

55200-50J02

Grand Vitara Il (JB) (04/05--)

025219 0715/W

55200-56831

Vitara | (ET, TA) (07/88-10/02)

025215 0014/W

55200-63810

X-90 (EL) (09/95-12/97)

23

2



SUZUki IM E)YLE@)

Prroducts

Brakes

025 233 1414/W

55200-65D30

B 2x

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

025 243 4617/W

55200-65J00

Application info
Grand Vitara Il (JB) (04/05--)

025 232 9614/W

55200-80E10

24

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55200-65D00
55200-65D01
55200-65D10

Vitara | (ET, TA) (07/88-10/02)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55200-65J00
55200-65J10

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55200-80E10

Front Axle

with anti-squeak plate
Sumitomo

2

110.4

549

14.5

with acoustic wear warning

55200-65D11
55200-65D20
55200-65D30

Front Axle

with anti-squeak plate
Tokico

4

138

54.7

171

with acoustic wear warning

55200-65J11
55200-67D11

Front Axle

with anti-squeak plate
Bosch

2

131

445

14.5

with acoustic wear warning

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

MeEeYLE

Products

Brake pad set

Application info
Swift 1 (03/89-12/04)

Brake pad set

Notes

Brake System
Width [mm]
Height [mm]
Thickness [mm]

References

55110-70A00
55110-80000
55110-80010
55110-80020

Application info

Jimny (09/98--)
Samurai (11/88-12/04)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55200-60B10
55200-60B11
55200-61880
55200-61880-000
55200-61880-B00
55200-63810-B00

Application info

Alto Il (EC), Il (EF), IV (FF) (09/85--)

Swift | (10/83-12/89)

Front Axle

with anti-squeak plate
Sumitomo

1104

41.6

15

not prepared for wear indicator

55200-70810
55200-81A10
55200-81A31

Front Axle

with anti-squeak plate
Sumitomo

2

107.3

44.8

14.3

with acoustic wear warning

55200-63810-DOM
55200-86810
55200-86820
55200-86830
55300-86810
55300-86820

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Brakes

025 232 9614/W

55200-80E10

025 211 4215
55200-81A31

$J(09/81-08/90)

025213 3314/W

55200-86810

W 1X X

0
|

Swift 11 (03/89-12/04)

25



Suzuki
Brakes

025 252 5814/W

55800-68L00

e~

S e

et

tawi

X
uf

A

Application info
Swift IV (10/10--)

025 248 7113/W

55800-77K00

(] ] [
L n _d
Application info
Grand Vitara Il (JB) (04/05--)
025217 1914/W
55800-80J02
1X 1X
i ,
: T

26

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55800-68L00

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55800-77K00

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55800-80J00
55800-80J01

MeEeYLE

Prroducts

Rear Axle

with anti-squeak plate
Akebono

2

98.5

40

143

with acoustic wear warning

Rear Axle

with anti-squeak plate
Akebono

2

105.4

394

13.8

with acoustic wear warning

Rear Axle

with anti-squeak plate
Akebono

2

88.8

47.4

14.6

with acoustic wear warning

55800-80J02

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake pad set

Application info
Swift 111 (02/05--)

Brake pad set

Notes

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55810-54G00
55810-54G50

Application info
Liana (07/01--)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55810-62J00

Application info
Splash (01/08--)

Front Axle

with anti-squeak plate

1

136.5

533

16.6

with acoustic wear warning

55810-54G60
55810-54G61

Front Axle

with anti-squeak plate
Lucas Girling

2

116.4

525

17.3

with acoustic wear warning

55810-62J20

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki
Brakes

025217 1914/W

55800-80J02

SX4 (06/06--)

025 238 1716/W

55810-54G61

ZX

025 244 0317/PD
55810-62J20

Swift Il (02/05--)

27

2



Suzuki
Brakes

025 244 0317/W

55810-62J20

0

Application info
Splash (01/08--)

025 237 9515/W

55810-64G00

2X

Application info
Baleno (03/95-05/02)

025 242 8316/W

55810-68L00

28

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55810-62J00

Swift 11l (02/05--)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]
Thickness/Strength 1 [mm]
Thickness/Strength 2 [mm]

References
55810-64G00

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55810-68L00

MeEeYLE

Prroducts

Front Axle

with anti-squeak plate
Lucas Girling

2

116.4

52.5

17.3

with acoustic wear warning

55810-62J20

Front Axle

with anti-squeak plate
Sumitomo

2

108.5

49.5

15.4

15.6

incl. wear warning contact

55810-64G01

Front Axle

with anti-squeak plate
Lucas Girling

2

125.6

517

16.5

with acoustic wear warning

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki
Brakes

MeEeYLE

Products

025 242 8316/W

Brake pad set
55810-68L00

Application info
Swift IV (10/10--)

025236 6215/W 2

Brake pad set
55810-75F12

Notes =TS

Front Axle

with anti-squeak plate L|- X
Number of Wear Indicators 2
Width [mm] 106.1
Height [mm] 50.1
Thickness [mm] 15

A |
References

55810-75F10 55810-75F12 ’% EL
2X 2 X 2 X

with acoustic wear warning

Application info

Wagon R+ | (EM) (10/97-05/00) Wagon R+ Il (MM) (05/00--)

025 243 9116/W
Brake pad set
p 55810-79J10
Notes
Front Axle
with anti-squeak plate
Brake System Lucas Girling
Number of Wear Indicators 1
Width [mm] 131.5
Height [mm] 56.9 T I
Thickness [mm] 16

References
55810-79J00

Application info
SX4 (06/06--)

with acoustic wear warning

55810-79J10

1197 Wulf Gaertner Autoparts AG - www.meyle.com

29



Suzuki

Brakes

025 2350715

55810-80G02

/_:1
L

Application info
Alto V (GF) (01/09--)

025 242 8016/W

55810-80J51

Application info
SX4 (06/06--)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55810-76A00
55810-76A01

Ignis 11 (09/03--)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References
55810-80J51

MeEeYLE

Prroducts

Front Axle

with anti-squeak plate
Sumitomo

2

108.4

45.6

15.2

with acoustic wear warning

55810-80G01
55810-80G02

Front Axle

with anti-squeak plate
Hitachi

1

137.2

53

16

with acoustic wear warning

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55200-83840-000
55810-83E00

55810-83E00-000
55810-83E00-B0O0

Application info
Ignis 11 (09/03--)

Brake pad set

Notes

Brake System

Number of Wear Indicators
Width [mm]

Height [mm]

Thickness [mm]

References

55200-83840-000
55810-83E00

55810-83E00-000
55810-83E00-B0O0

Application info
Ignis Il (09/03--)

Front Axle

with anti-squeak plate
Bosch

2

130.8

444

15.5

with acoustic wear warning

55810-83E00-DOM
55810-84E00
55810-84E01
55810-84E01-000

Front Axle

with anti-squeak plate
Bosch

2

130.8

444

15.5

with acoustic wear warning

55810-83E00-DOM
55810-84E00
55810-84E01
55810-84E01-000

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki
Brakes

025 232 5316/PD

4

1X
2X

2X

C/

55810-84E00

2X

L

=

Wagon R+ Il (MM) (05/00--)

025 232 5316/W

8\

1X
2X

2X

C/

55810-84E00

ZX

§

=

Wagon R+ Il (MM) (05/00--)

31



SUZUki IM E)YLE@)

Bl‘akes Prroducts

33-15523 0001

Application info

References
53200-62J01

Brake drum
43511-60G10
Notes
Rear Axle
Number of Holes 4
Inner Br. Drum Diam. [mm] 200
Br. Drum outer diameter [mm] 245
Max.skimmed drum measure
2 [mm] 202
Bolt Hole Circle @ [mm] 100
Total Br. Drum Height [mm] 56.5
Inner Brake Drum Height [mm] 40
Centering Diameter [mm] 58
References
43511-60G00 43511-60G10
Application info
Baleno (03/95-05/02) Liana (07/01--)
Ignis | (FH) (10/00-12/05) Swift Il (02/05--)
Ignis 11 (09/03--)
11-14 533 0018 .
Brake shoe kit
53200-62J02
Notes
Rear Axle
Brake System Bosch
Width [mm] 32
Diameter [mm] 200
with lever

without spring

53200-62J02

Splash (01/08--) Swift Il (02/05--)
33-14 533 0008 Brake shoe kit
53200-63J02
Notes
Rear Axle
Width [mm] 32
Diameter [mm] 200

References
53200-63J02

without spring

32 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki
Brakes

MeEeYLE

Products

33-14 533 0008

Brake shoe kit
53200-63J02

Application info

Swift Il (02/05--)
, 33-145330003 2
Brake shoe kit
53200-67D00

Notes

Rear Axle
Width [mm] 40
Diameter [mm] 220

without spring
References
53200-65D00 53200-67D00

53200-65D01

Application info
Grand Vitara | (FT, GT) (03/98-09/05) Vitara | (ET, TA) (07/88-10/02)
Grand Vitara Il (JB) (04/05--)

33-14 533 0004

Brake shoe kit
53200-70820

Notes
Rear Axle

Width [mm] 25
Diameter [mm] 180
without spring
References
53200-70820

Application info
Wagon R+ | (EM) (10/97-05/00) Wagon R+ Il (MM) (05/00--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 33



SUZUki IM E)YLE@)

Bl‘akes Prroducts

33-14 533 0006 .
Brake shoe kit
53200-76G50
Notes
Rear Axle
Width [mm] 25
Diameter [mm] 180
without spring
2 References
53200-76G00 53200-76G20
53200-76G10 53200-76G50
Application info
Ignis | (FH) (10/00-12/05) Wagon R+ Il (MM) (05/00--)
Ignis 11 (09/03--)
33-14 533 0000 .
Brake shoe kit
53200-79J00
Notes
Rear Axle
Width [mm] 35
Diameter [mm] 220
with lever
without spring
References

53200-79J00

Application info
SX4 (06/06--)

1-14 i
3 5330008 Brake shoe kit
53200-81A01
Notes
Rear Axle
Width [mm] 35
Diameter [mm] 210
without spring
References

53200-81A01

Application info
Carry (FD) (02/99--) Jimny (09/98--)

34 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake shoe kit

Notes

Width [mm]
Diameter [mm]

References
53200-84E00

Application info
Ignis Il (09/03--)

Brake shoe kit

Notes

Width [mm]
Diameter [mm]

References

53200-60820
53200-60821

Application info
Swift 11 (03/89-12/04)

Brake shoe kit

Notes

Width [mm]
Diameter [mm]

References

53200-60841
53200-69G00
53200-69G11

Application info

Baleno (03/95-05/02)
Liana (07/01--)

Rear Axle

29

200

with lever
without spring

53200-86G00

Rear Axle

25

180

without spring

53210-60B00
53210-60B10

Rear Axle

32

200

without spring

53200-69G12
53210-70C00
53210-70C10

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Wagon R+ Il (MM) (05/00--)

Suzuki

Brakes

614 533 0000

53200-86G00

33-14 533 0001

53210-60B10

33-14 533 0005

53210-70C10

Swift I (03/89-12/04)
Swift Il (02/05--)

35



Suzuki

Brakes

33-14 533 0002

53830-70B00

Brake shoe kit

Notes

Width [mm]
Diameter [mm]

References

53210-50E00
53220-50E00
53230-50E00
53800-60800

M

Rear Axle

30

180

without spring

53820-60F00
53820-70B00
53830-60F00
53830-70B00

EYLE’

Prroducts

53800-70800

Application info
Alto Il (EQ), IIl (EF), IV (FF) (09/85--)

33-14 533 0007

54600-77K00 Brake shoe set, parking brake

Notes

Rear Axle
Width [mm] 37
Diameter [mm] 200

without spring
References

54600-77K00

Application info
Grand Vitara Il (JB) (04/05--)

614 525 0001

Brake hose
51550-83E00
Notes
3 Front Axle
Required quantity 2
Length [mm] 443
Port Type Banjo fitting
Inner Thread [mm] M10x1
References

51550-83E00

Application info
Ignis 11 (09/03--) Wagon R+ Il (MM) (05/00--)

36 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Brake hose

Notes

Required quantity
Length [mm]
Inner Thread 1 [mm]

References
51570-83E00

Application info
Ignis Il (09/03--)

Wheel cylinder

Notes

Diameter [mm]

References

53401-76G00
53401-76G01

Application info

Ignis | (FH) (10/00-12/05)
Ignis 11 (09/03--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Rear Axle
2

305
M10x1

Rear Axle
15.87
Cast Iron

53401-76G02

Suzuki

Brakes

614 525 0002

51570-83E00

Wagon R+ Il (MM) (05/00--)

33-14 531 0001

53401-76G01

Wagon R+ Il (MM) (05/00--)

37



SUZUki IM E)YLE(E

Drive train/Transmission Products

614 4950010

Boot kit, C.V. joint
44118-51K90

Notes
Front Axle
Wheel Side

Length [mm] 1155

Inner Diameter 1 [mm] 21.65

Inner Diameter 2 [mm] 72.5
Thermoplast

References

) 44118-51K90

Application info
Splash (01/08--)

35-14 495 0002

Boot kit, C.V. joint
44118-60G71
Notes
Wheel Side
Front Axle
Length [mm] 88
Inner Diameter 1 [mm] 21
Inner Diameter 2 [mm] 73
Elastomer
References
44118-51F00 44118-60G71
Application info
Baleno (03/95-05/02)
33-14 495 0002 . ¢ .
Boot kit, C.V. joint
44118-64B10
Notes
Wheel Side
Front Axle
Length [mm] 920
Inner Diameter 1 [mm] 23
Inner Diameter 2 [mm] 73
Elastomer
References
44118-60G42 44118-64B10
Application info
Baleno (03/95-05/02) Swift 11 (03/89-12/04)

38 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeYLE

Prroducts

Boot kit, C.V. joint

Notes

Length [mm]
Inner Diameter 1 [mm]
Inner Diameter 2 [mm]

References

44118-60G00
44118-60G01
44118-75F01

Application info

Baleno (03/95-05/02)
Ignis | (FH) (10/00-12/05)

Boot kit, C.V. joint

Notes

Length [mm]
Inner Diameter 1 [mm]
Inner Diameter 2 [mm]

References

44119-75F00
44119-75F60

Application info
Swift 11 (03/89-12/04)

Boot kit, C.V. joint

Notes

Length [mm]
Inner Diameter 1 [mm]
Inner Diameter 2 [mm]

References
44119-80E01

Application info
Wagon R+ Il (MM) (05/00--)

Wheel Side
Front Axle

Elastomer

44118-75F40
44118-75F60
44118-82022

Transmission End
Front Axle

Elastomer

44119-78513

Transmission End

Elastomer

44119-M79F00

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Drive train/Transmission

33-14 495 0001

44118-82022

Wagon R+ | (EM) (10/97-05/00)
X-90 (EL) (09/95-12/97)

35-14 495 0003

44119-78513

614 495 0002

44119-80E01

39



Suzuki

Drive train/Transmission

33-14498 0016
44101-75F20

Application info

Wagon R+ | (EM) (10/97-05/00)

33-14 498 0007
44101-80E01

Application info
Swift Il (03/89-12/04)

33-14 498 0006
44101-80E21

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References

44101-75F20
44101-75F32

Wagon R+ Il (MM) (05/00--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Outer Diameter [mm)]
Seal Diameter [mm]

References

44101-80E00
44101-80E01

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Outer Diameter [mm]
Seal Diameter [mm]

References
44101-80E21

M

Wheel Side
23

19

135

49

with ABS ring
41

CV Joint

44102-75F20

Wheel Side

23

20

71

49

without ABS ring
CV Joint

44102-80E00
44102-80E01

Wheel Side

without ABS ring
CV Joint

44102-80E21

EYLE’

Prroducts

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Drive train/Transmission

33-14 498 0006
44101-80E21

C.V. joint kit

Application info
Swift 1 (03/89-12/04)

33-14 498 0015

C.V. joint kit
44101-81A00
Notes
Wheel Side
External Teeth, wheel side 26
Internal Teeth, wheel side 19 3
Length [mm] 167.5
Seal Diameter [mm] 44
without ABS ring
CV Joint
References
44101-81A00 44102-81A00
Application info
Jimny (09/98--)
. . 33-14 498 0020
C.V. joint kit
44102-54G50
Notes
Wheel Side
External Teeth, wheel side 25
Internal Teeth, wheel side 29
Length [mm] 137
Seal Diameter [mm] 49
with ABS ring
Number of Teeth, ABS ring 42
CV Joint
References
44101-54G50 44102-54G50
Application info
Baleno (03/95-05/02) Liana (07/01--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 41



Suzuki

Drive train/Transmission

42

33-14498 0010
44102-62J90

Application info
Swift Il (02/05--)

33-14498 0018

44102-63J80

Application info
Ignis | (FH) (10/00-12/05)

33-14498 0014
44102-72F00

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References
44101-62J90

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

Number of Teeth, ABS ring

References

44101-63J00
44101-63J80
44102-63J00

Swift Il (02/05--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

References
44102-72F00

M

Wheel Side
25

29

147

49.1

with ABS ring
43

CV Joint

44102-62J90

Wheel Side
25

29

143

49

with ABS ring
43

CV Joint

44102-63J30
44102-63J80

Wheel Side

49
without ABS ring
CV Joint

EYLE’

Prroducts

Wulf Gaertner Autoparts AG - www.meyle.com 1197



1197 Wulf Gaertner Autoparts AG - www.meyle.com

MeEeYLE

Products

C.V. joint kit

Application info
Alto Il (EC), lll (EF), IV (FF) (09/85-)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

References

44101-77E00
44101-77E01
44102-77E00

Application info
Vitara | (ET, TA) (07/88-10/02)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

References

44101-67D00
44101-67D01

Application info

Grand Vitara | (FT, GT) (03/98-09/05)

Wheel Side

without ABS ring
CV Joint

44102-77E01
44102-77E02

Wheel Side

without ABS ring
CV Joint

44102-67D00
44102-78E00

Suzuki

Drive train/Transmission

33-14498 0014
44102-72F00

33-14 498 0012

44102-77E02

33-14 498 0013
44102-78E00

Vitara | (ET, TA) (07/88-10/02)

43



Suzuki

®
EXILE
Drive train/Transmission resHetEsS

33-14498 0017

C.V. joint kit
44102-79FA0
Notes
Wheel Side
External Teeth, wheel side 23
Internal Teeth, wheel side 19
Length [mm] 134.5
Seal Diameter [mm] 49
with ABS ring
Number of Teeth, ABS ring 43
CV Joint
References
3 44101-79FA0 44102-79FA0
Application info
Alto Il (EC), Il (EF), IV (FF) (09/85--)
614 498 0022 . . .
C.V. joint kit
44102-83E10 "
Notes
Wheel Side
External Teeth, wheel side 23
Internal Teeth, wheel side 20
Length [mm] 139
Outer Diameter [mm)] 723
Seal Diameter [mm] 49
with ABS ring
Number of Teeth, ABS ring 43
l CV Joint
-
References
44101-83E11 44102-83E10
Application info
Wagon R+ Il (MM) (05/00--)
33-14 498 0021 . . .
C.V. joint kit
44102-86G60 "
Notes
Wheel Side
External Teeth, wheel side 25
Internal Teeth, wheel side 28
Length [mm] 137
Seal Diameter [mm] 49
with ABS ring
Number of Teeth, ABS ring 43
CV Joint
‘ References
— 44101-86G00 44102-86G60

44 Wulf Gaertner Autoparts AG - www.meyle.com 1197



1197 Wulf Gaertner Autoparts AG - www.meyle.com

MeEeYLE

Products

C.V. joint kit

Application info
Ignis Il (09/03--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Seal Diameter [mm]

References
44102-M72F12

Application info
Alto Il (EC), lll (EF), IV (FF) (09/85--)

C.V. joint kit

Notes

External Teeth, wheel side
Internal Teeth, wheel side
Length [mm]

Outer Diameter [mm]
Seal Diameter [mm]

References
44131-60A01

Application info
Vitara | (ET, TA) (07/88-10/02)

Wheel Side

without ABS ring
CV Joint

44102-M72F21

Wheel Side

26

22

182

79.5

48

without ABS ring
CV Joint

44132-60A00

Suzuki

Drive train/Transmission

33-14 498 0021
44102-86G60

33-14 498 0019

44102-M72F21

Swift I (03/89-12/04)

33-14 498 0009

44131-60A01

45



Suzuki

Electrics

46

014 020 1039

00000-A01289

®,

Application info

Baleno (03/95-05/02)
Samurai (11/88-12/04)

011860 0000

18550-66G00

Application info

Baleno (03/95-05/02)
Samurai (11/88-12/04)

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References
00000-A01289

Vitara | (ET, TA) (07/88-10/02)

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References
18550-66G00

Vitara | (ET, TA) (07/88-10/02)

EYLE’

Prroducts

M12x 1,25

6.1

12

Pencil-type Glow Plug
16

70.6

M12x 1,25

6.1

12

Pencil-type Glow Plug
after-glow capable

16

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References

09900-HDIO1
18550-67G00

Pencil-type Glow Plug
after-glow capable
15

18550-67G10
99912-65D00

18550-67G00-000

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

Glow plug

Notes

Voltage [V] 11

Port Type M4

Fitting Depth [mm] 27.75

Cone Pitch 63

Overall Length [mm] 118.4

Thread Size M10x 1

Diameter [mm] 5.1

Spanner Size 10
Pencil-type Glow Plug
after-glow capable

Rated current [A] 18.5

References

18550-67G11

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki
Electrics

714 020 0003

18550-67G00

714 020 0004

18550-67G11

47



Suzuki

Electrics

48

714 860 0002

18550-73J00

Application info
Liana (07/01--)

714 860 0003

18550-78E11

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References
18550-73J00

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References

09900-RFO01
18550-78E00

Vitara | (ET, TA) (07/88-10/02)

EYLE’

Prroducts

123

118.5

M8 x 1

4.4

8

Pencil-type Glow Plug
after-glow capable

11

18550-73J00-000

84.5

M10x 1,25

5

12

Pencil-type Glow Plug
after-glow capable

15

18550-78E10
18550-78E11

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

References
18550-79J50

Application info
SX4 (06/06--)

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References
18550-80KA0

Application info
Grand Vitara Il (JB) (04/05--)

Pencil-type Glow Plug

Pencil-type Glow Plug
after-glow capable
Euro 5

8.5

18550-80KA0-000

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Electrics

214 860 0000

18550-79J50

16-14 860 0008
18550-80KA0-000

49



Suzuki
Electrics

50

16-14 860 0010
18550-84A51

Application info
Grand Vitara Il (JB) (04/05--)

614 020 0007

18550-84E50

Application info

Ignis 11 (09/03--)
Swift Il (02/05--)

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References
18550-84A51

Jimny (09/98--)

Glow plug

Notes

Voltage [V]

Port Type

Fitting Depth [mm]
Cone Pitch

Overall Length [mm]
Thread Size
Diameter [mm]
Spanner Size

Rated current [A]

References

18550-84E50
18550-84E50-000

Wagon R+ Il (MM) (05/00--)

EYLE’

Prroducts

10

Pencil-type Glow Plug
after-glow capable

15

Pencil-type Glow Plug
after-glow capable
10

18550-DG171-A00

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

MeEeYLE

Products

Electrics

6148100001

Sender unit, coolant temperature
13650-84E51

Notes
Number of Poles 2
Switch Point [°C] -40
Switch Point [°C] 150
Thread Size M12x 1,5
Spanner Size 19
Green
References
13650-79J50 13650-84E51
13650-84E50 13650-84E52
Application info
Ignis 1 (09/03--) SX4 (06/06--)
Swift Il (02/05--) Wagon R+ Il (MM) (05/00--)

16-14 899 0011

Sender unit, coolant temperature 13660.84A00

Notes

Number of Poles 4
Black

References

13650-84CTO 13660-84A00
13650-84CT0-000

Application info
Grand Vitara Il (JB) (04/05--) Jimny (09/98--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 51



Suzuki

Engine/Cooling/Clutch

33-28 228 0000
17670-65D00

Application info

Baleno (03/95-05/02)
Grand Vitara Il (JB) (04/05--)
Ignis | (FH) (10/00-12/05)
Ignis 11 (09/03--)

39-28 228 0000

17670-79001

Application info

Alto 1 (06/82-12/85)
Alto Il (EC), Ill (EF), IV (FF) (09/85--)

613 220 0008
17400-51K00

52

Thermostat

Notes
Opening Temperature [°C]

References

17600-60813
17670-65D00
17670-66D00

Jimny (09/98--)
Liana (07/01--)
Wagon R+ Il (MM) (05/00--)

Thermostat

Notes
Opening Temperature [°C]

References
17670-79000

Swift | (10/83-12/89)
Swift Il (03/89-12/04)

Water pump

Notes

References
17400-51K00

MeEeYLE

Prroducts

82
with seal

17670-66D01
17670-77E00

88
without gasket / seal

17670-79001

with seal

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

% MEYLE
Products Engine/Cooling/Clutch

613 220 0008

Water pump 17400-51K00

Application info
Alto V (GF) (01/09--) Splash (01/08--)

33-13 220 0001

17400-60815

Water pump

Notes
with seal

References

17400-60810 17400-60813
17400-60811 17400-60814
17400-60812 17400-60815

Application info

Baleno (03/95-05/02) Vitara | (ET, TA) (07/88-10/02)

Swift 11 (03/89-12/04) X-90 (EL) (09/95-12/97) 5
1322 4

Water pump 33-13 220 000

17400-69G01

Notes
with seal

References -

17400-69G00 17400-69G02 ﬁ‘k :
17400-69G01 :

Application info

Ignis | (FH) (10/00-12/05) Swift 11l (02/05--)
Ignis 11 (09/03--) SX4 (06/06--)
Liana (07/01--) Wagon R+ Il (MM) (05/00--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 53



Suzuki

Engine/Cooling/Clutch

33-13 220 0006

17400-73832

Application info
Wagon R+ | (EM) (10/97-05/00)

33-13 220 0005

17400-77813

Application info

Baleno (03/95-05/02)
Grand Vitara | (FT, GT) (03/98-09/05)

33-13 220 0000

17400-78821

Application info

Alto | (06/82-12/85)
SJ(09/81-08/90)

54

MeEeYLE

Prroducts

Water pump
Notes
Number of Ribs 4
with seal

References

17400-73831
17400-73832

for v-ribbed belt use

17400-73833
17400-80811

Water pump

Notes

References

17400-77810
17400-77811
17400-77812

with seal

17400-77813
17400-77814

Grand Vitara Il (JB) (04/05--)
Vitara | (ET, TA) (07/88-10/02)

Water pump

Notes

References

17400-73001
17400-73002
17400-73820

with seal

17400-78101
17400-78820
17400-78821

Super (07/85-03/99)

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

% MeYLE
Products Engine/Cooling/Clutch

35-13 220 0001

Water pum
p p 17400-78E01
Notes
Number of Teeth 22
with seal
for toothed belt drive
References
17400-78E00 17400-78E01

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-13 220 0002

Water pump
17400-82851
Notes
with seal
Number of Thread Bores 4 5
References
17400-82820 17400-82824
17400-82822 17400-82850
17400-82823 17400-82851
Application info
Alto Il (EC), Il (EF), IV (FF) (09/85--) Swift | (10/83-12/89)
Baleno (03/95-05/02) Swift Il (03/89-12/04)
Carry (FD) (02/99-) Wagon R+ Il (MM) (05/00--)
11-13 220 0001
Water pum
pump 17410-67G00
Notes
Number of Teeth 20
with seal
for toothed belt drive
References

17410-67G00

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 55



Suzuki

Engine/Cooling/Clutch

MeEeYLE

Prroducts

613 220 0002
17410-85E00

Application info

Ignis Il (09/03--)
Swift Ill (02/05--)

36-12 321 0018
13780-52D00

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-12 321 0002

13780-54G00

Application info
Liana (07/01--)

56

Water pump

Notes

Number of Ribs 6
Aluminium Housing
with seal

References
17410-85E00

for v-ribbed belt use

Wagon R+ Il (MM) (05/00--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-52D00

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-54G00

Filter Insert
267

228

48

13780-52D10

Filter Insert
179

162

61

13780-54G00-000

Wulf Gaertner Autoparts AG - www.meyle.com 1197



M

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-54G10

Application
Liana (07/01--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-57L00

Application

EYLE’

Products

info

info

Kizashi (FR) (10/10--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-58B00

13780-58B00-000

Application

info

Vitara | (ET, TA) (07/88-10/02)

Filter Insert
240

160.5

55

13780-54G10-000

Filter Insert
319

207.5

38.5

Filter Insert
294

141

51

13780-58BU0
13780-58BU0-000

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Engine/Cooling/Clutch

33-12321 0010
13780-54G10

33-12321 0015

13780-57L00

33-12 321 0007

13780-58B00

X-90 (EL) (09/95-12/97)

57



Suzuki

Engine/Cooling/Clutch

33-12 321 0005

13780-60GUO

Air filter

13780-60B00
Notes

Filter Insert

Height [mm] 40
Outer Diameter [mm] 240
Inner Diameter [mm] 21
References
13780-60B00 13780-86000-000
13780-60B00-000 99000-990YJ-003
13780-86000

Application info

Swift Il (03/89-12/04)

33-12 321 0003 .
Air filter

13780-60G00
Notes

Filter Insert
Length [mm] 155
5 Width [mm] 187

Height [mm] 52
References
13780-60G00 13780-60GU0-000
13780-60G00-000 13780-65G50

13780-65G50-000

Application info
Baleno (03/95-05/02)

33-12321 0011

58

Air filter
13780-62J00
Notes
Filter Insert
Length [mm] 231
Width [mm] 146
Height [mm] 42
References

Application info

Swift Il (02/05--)

13780-62J00

13780-62J00-000

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

13780-62J50
13780-62J50-000

Application info
Splash (01/08--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

13700-63J00
13780-63J00

Application info
Swift 111 (02/05--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-65J00

Application info
Grand Vitara Il (JB) (04/05--)

Fresh Air Filter
245

121

46

13780-62J51
13780-62J51-000

Filter Insert
239

145.5

30.5

13780-63J00-000

Filter Insert
229.5

179

53

13780-65J00-000

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Engine/Cooling/Clutch

6123210011

13780-62J51

Swift Il (02/05--)

33-12321 0013

13780-63J00

33-12321 0012

13780-65J00

59



Suzuki M —_—
Engine/Cooling/Clutch Products

11-12 321 0014

Air filter
13780-73J00
Notes
Filter Insert
Length [mm] 319
Width [mm] 113
Height [mm] 54
Height 1 [mm] 48

Application info

References
13780-73J00

13780-73J00-000

Liana (07/01--) SX4 (06/06--)
-12 321 .

33 3 0008 Air filter

13780-75F00
Notes

Filter Insert

Length [mm] 236
Width [mm] 138
Height [mm] 415
References

13780-75F00

13780-75FU0

Application info

Alto Il (EC), Ill (EF), IV (FF) (09/85--) Wagon R+ Il (MM) (05/00--)
Wagon R+ | (EM) (10/97-05/00)

2123210015

Air filter
13780-76550
Notes
Filter Insert
Length [mm] 183
Width [mm] 169
Height [mm] 57
References
13780-76550 13780-76550-000

Application info
SX4 (06/06--)

60 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-77E00

Application info

Grand Vitara | (FT, GT) (03/98-09/05)

Samurai (11/88-12/04)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-78K00

Application info
Grand Vitara Il (JB) (04/05--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-79J00

Application info
SX4 (06/06--)

Filter Insert
228

202

54

13780-77EUO0

Filter Insert
241

217

52

Filter Insert
226

127

34

13780-79J00-000

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Engine/Cooling/Clutch

33-12 321 0001
13780-77EU0

Vitara | (ET, TA) (07/88-10/02)

36-12 321 0017
13780-78K00

2123210014

13780-79J00

61



Suzuki

Engine/Cooling/Clutch

M

EYLE’

Prroducts

2123210016
13780-79J80

Application info
SX4 (06/06--)

33-12 321 0009

13780-80GA0

Application info

Ignis | (FH) (10/00-12/05)
Ignis 11 (09/03--)

33-12 321 0004

13780-81A00

Application info
Jimny (09/98--)

62

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-79J80

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-80GA0

Wagon R+ Il (MM) (05/00--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

13780-81A00
13780-81A00-000

Filter Insert
190

152

50

13780-79J80-000

Filter Insert
268.5

170

325

13780-80GA0-000

Filter Insert
191.5

156

53.5

13780-82A00
13780-82A00-000

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Air filter
Notes

Filter Insert
Length [mm] 244
Width [mm] 156
Height [mm] 473
References

13780-83E00
13780-83E00-000

13780-F83E00

Application info
Wagon R+ Il (MM) (05/00--)

Air filter
Notes

Filter Insert
Length [mm] 243
Width [mm] 147
Height [mm] 42
References

13780-73KA0
13780-73KA0-000

13780-83G00
13780-83G00-000

Application info

Splash (01/08--)
Air filter
Notes
Filter Insert
Length [mm] 307
Width [mm] 160
Height [mm] 53
References

13780-84E50 13780-84E50-000

Application info
Ignis 11 (09/03--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Engine/Cooling/Clutch

612083 4008
13780-83E00

Wagon R+ Il (MM) (05/00--)

6123210010

13780-83G00

612321 0009

13780-84E50

63



Suzuki
Engine/Cooling/Clutch

33-12 321 0006
13780-86G00

Application info

Ignis | (FH) (10/00-12/05)
Ignis 11 (09/03--)

33-12321 0014
13780-M68K00

Application info
Alto V (GF) (01/09--)

33-14 323 0005

15310-78F01

Application info
Ignis | (FH) (10/00-12/05)

64

T

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References
13780-86G00

Wagon R+ Il (MM) (05/00--)

Air filter

Notes

Length [mm]
Width [mm]
Height [mm]

References

13700-M68KAO0
13780-68K00

Fuel filter

Notes

Height [mm]
Diameter [mm]

References
15310-78F00

Ignis 11 (09/03--)

MeEeYLE

Prroducts

Filter Insert
253

149.5

37.3

13780-86G00-000

Filter Insert
242

142

39

13780-M68K00
13780-M68K00-000

in fuel tank
145

113

Plastic

15310-78F01

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Engine/Cooling/Clutch

33-14 323 0004

Fuel filter
15410-60B00
Notes
Height [mm] 58
Diameter [mm] 69.6
Metal
References
15401-80E00 15410-60B00-000
15401-80E00-000 15410-60B01
15410-60B00 15410-60B01-000
Application info
Swift Il (03/89-12/04)
33-14 323 0002
Fuel filter
15410-65D00
Notes
Height [mm] 134
Diameter [mm] 75
Metal 5
References
15410-65D00 15410-65D10
15410-65D00-000 15410-65D10-000
Application info
Grand Vitara | (FT, GT) (03/98-09/05) Grand Vitara Il (JB) (04/05--)
11-14 323 0000
Fuel filter
15410-73J00
Notes
Height [mm] 121
Diameter [mm] 110
Plastic
References
15410-73J00 15410-73J10
15410-73J00-000 15410-73J10-000
Application info
Liana (07/01--) SX4 (06/06--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 65



Suzuki

Engine/Cooling/Clutch

37-14323 0016
15410-80C10

Application info
Samurai (11/88-12/04)

33-14 323 0001

15410-84380

Application info

Alto Il (EC), Ill (EF), IV (FF) (09/85--)
Alto V (GF) (01/09--)

Ignis | (FH) (10/00-12/05)

Ignis 11 (09/03--)

Jimny (09/98--)

Liana (07/01--)

16-14 323 0007
15410-84A00

Fuel filter

Notes

Port Thread
Height [mm]
Diameter [mm]

References

15410-80C00
15410-80C10

Fuel filter

Notes

Height [mm]
Height 1 [mm]
Diameter [mm]
Diameter 1 [mm]

References

15310-75F00
15410-72F00

Splash (01/08--)
Swift 11l (02/05--)
Swift IV (10/10--)
SX4 (06/06--)

Wagon R+ | (EM) (10/97-05/00)
Wagon R+ Il (MM) (05/00--)

Fuel filter

Notes

Height [mm]
Diameter [mm]

References
15410-84A00

M

Screw-on Filter
M12x1,25

130

70

Metal

23300-49145

15410-72F01
15410-84380

187

Metal

EYLE’

Prroducts

66 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Fuel filter

Application info
Jimny (09/98--)

Fuel filter
Notes

Filter Insert
Height [mm] 71
Diameter [mm] 87

Metal

with seal
References

15410-86CA3 15412-66G00

15412-66CT1

Application info

Baleno (03/95-05/02)
Samurai (11/88-12/04)

Fuel filter
Notes

Filter Insert
Height [mm] 76
Diameter [mm] 84

with seal
References

15412-67G00 15412-86CTO

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki
Engine/Cooling/Clutch

16-14 323 0007
15410-84A00

100 323 0007

15410-86CA3

Vitara | (ET, TA) (07/88-10/02)

214 323 0002
15412-86CTO

67



Suzuki
Engine/Cooling/Clutch

614 323 0000

15415-67JA0

Application info
Grand Vitara Il (JB) (04/05--)

16-14 919 0005

15100-68DB1-LCP

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-14 322 0001

16510-61A02

Application info

Grand Vitara | (FT, GT) (03/98-09/05)
Kizashi (FR) (10/10--)
Samurai (11/88-12/04)

68

Fuel filter

Notes

Height [mm]
Diameter [mm]

References
15415-67JA0

Fuel pump

Notes

Voltage [V]
Pressure [bar]

References
15100-68DB1-LCP

Grand Vitara Il (JB) (04/05--)

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References

16510-61A02
16510-61A30
16510-61A30-000
16510-61A31

Swift Il (02/05--)
SX4 (06/06--)

Vitara | (ET, TA) (07/88-10/02)

MeEeYLE

Prroducts

Filter Insert
92

69.5

with seal

12

1.5

Electric

without housing
without tank sender unit

Screw-on Filter
3/4"-16 UNF

85

68

16510-85FA1
16510-85FUO
16510-85FU0-000

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References

16510-61A00
16510-61A01

Application info
Baleno (03/95-05/02)

Grand Vitara | (FT, GT) (03/98-09/05)

Grand Vitara Il (JB) (04/05--)
Ignis | (FH) (10/00-12/05)
Ignis 11 (09/03--)

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References
16510-73000
16510-73001
16510-73002
16510-73010

Application info
Alto | (06/82-12/85)

LJ 80 (11/77-01/84)
Samurai (11/88-12/04)
SJ(09/81-08/90)

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References

16510-73001
16510-73001-000
16510-73002

Screw-on Filter
3/4"-16 UNF
85

65

16510-61A20
16510-61A21

Screw-on Filter
3/4"-16 UNF
74

82

16510-73012
16510-73013
16510-83010

Screw-on Filter
3/4"-16 UNF
76

68

16510-73002-000
16510-82001

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Jimny (09/98--)
Liana (07/01--)
Swift 11l (02/05--)
SX4 (06/06--)

Wagon R+ Il (MM) (05/00--)

Super (07/85-03/99)
Swift | (10/83-12/89)

Swift 11 (03/89-12/04)

Suzuki

Engine/Cooling/Clutch

33-14 322 0004
16510-61A21

714 322 0005

16510-73000

30-14 322 0000

16510-73002

69

5



SUZUki IM E)YLE(E

Products

Engine/Cooling/Clutch

30-14 322 0000

16510-73002

Oil filter

Application info
Alto Il (EQ), 11l (EF), IV (FF) (09/85--) Swift I1I (02/05--)
Grand Vitara Il (JB) (04/05--)

714 322 0007 il fil
Oil filter
16510-73J00
Notes
Filter Insert
Height [mm] 99
Outer Diameter [mm] 66
Inner Diameter [mm] 25
with seal
References
16510-73J00 16510-73J01-000
16510-73J00-000 16510-73J02
16510-73J01 16510-73J02-000
Application info
5 Liana (07/01--) SX4 (06/06--)
35-14 322 0001 .
Oil filter
16510-78E00
Notes
Screw-on Filter
Thread Size M26x1,5
Height [mm] 121.2
Diameter [mm] 93
References
16510-78E00 16516-78E01

16516-78E00

Application info
Grand Vitara | (FT, GT) (03/98-09/05) Vitara | (ET, TA) (07/88-10/02)

70 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Oil filter

Notes

Height [mm]
QOuter Diameter [mm]
Inner Diameter [mm]

References
16510-79J50

Application info
SX4 (06/06--)

Qil filter

Notes

Height [mm]
Inner Diameter [mm)]
Diameter [mm]

References

16510-68L10
16510-68L10-000

Application info
Swift 111 (02/05--)

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References

16510-73002
16510-73010
16510-81400
16510-81420

Filter Insert
74

63.5

31

with seal

16510-79J50-000

Filter Insert
105

41

66

with seal

16510-79J60
16510-79J60-000

Screw-on Filter
3/4"-16 UNF
65

66

16510-82701
16510-82702
16510-82703
16510-87701

1197 Wulf Gaertner Autoparts AG - www.meyle.com

SX4 (06/06--)

Suzuki

Engine/Cooling/Clutch

614 3220011

16510-79J50

6143220016

16510-79J60

33-14016 0000

16510-82701

71



Suzuki
Engine/Cooling/Clutch

33-14016 0000

16510-82701

Application info
Alto | (06/82-12/85)
Alto Il (EC), lll (EF), IV (FF) (09/85-)
Baleno (03/95-05/02)
Carry (FD) (02/99--)
LJ 80 (11/77-01/84)
SJ (09/81-08/90)

614 065 0006

16510-84E00

Application info
Wagon R+ Il (MM) (05/00--)

33-14 322 0002
16510-85C00

Application info

Alto Il (EC), Il (EF), IV (FF) (09/85--)
Grand Vitara | (FT, GT) (03/98-09/05)
Jimny (09/98--)

Swift I1 (03/89-12/04)

72

Oil filter

Splash (01/08--)

M

Super (07/85-03/99)

Swift 1 (10/83-12/89)

Swift Il (03/89-12/04)

Swift IV (10/10--)

Wagon R+ | (EM) (10/97-05/00)

Oil filter
Notes

Filter Insert
Height [mm] 85
Outer Diameter [mm] 62
Inner Diameter [mm] 28

with seal
References

16510-84E00

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References

16510-60B10
16510-60B11

Screw-on Filter
3/4"-16 UNF
85.5

76

16510-85C00

Swift IV (10/10--)

Vitara | (ET, TA) (07/88-10/02)
Wagon R+ Il (MM) (05/00--)
X-90 (EL) (09/95-12/97)

EYLE’

Prroducts

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References

16510-83000
16510-83001
16510-83012
16510-83012-000

Application info

Grand Vitara | (FT, GT) (03/98-09/05)

Samurai (11/88-12/04)

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References

16510-66G00
16510-66G02
16510-86CA0
16510-86CA0-000

Application info
Baleno (03/95-05/02)

Grand Vitara | (FT, GT) (03/98-09/05)

Oil filter

Notes

Thread Size
Height [mm]
Diameter [mm]

References
16510-M68K00

Application info
Alto V (GF) (01/09--)

Screw-on Filter
3/4"-16 UNF
100

80

16510-85FA0
16510-85FA0-000
16510-B83000

Screw-on Filter
M20x1,5

89

76

16510-86CA0-PPS
16510-86CB0O
16510-86CB1

Screw-on Filter
3/4"-16 UNF
69

65

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Engine/Cooling/Clutch

33-14322 0003
16510-85FA0

SJ (09/81-08/90)
Vitara | (ET, TA) (07/88-10/02)

214 322 0002

16510-86CB1

Samurai (11/88-12/04)
Vitara | (ET, TA) (07/88-10/02)

33-14 322 0005
16510-M68K00

Splash (01/08--)

73



Suzuki

Engine/Cooling/Clutch

74

614 322 0006

16511-85E00

Application info

Ignis Il (09/03--)
Swift Ill (02/05--)

614 322 0007

16511-85E10

Application info

Ignis 1 (09/03--)
Splash (01/08--)

Oil filter

Notes

Height [mm]

Height 1 [mm]

Outer Diameter [mm)]
Inner Diameter [mm]

References

16511-85C00
16511-85C00-000

Wagon R+ Il (MM) (05/00--)

Oil filter

Notes

Height [mm]
Outer Diameter [mm]
Inner Diameter [mm]

References

16510-N86J0
16510-N86J0-000

Swift 11 (02/05--)

Wagon R+ Il (MM) (05/00--)

EYLE’

Prroducts

Filter Insert
83.5

with seal

16511-85E00
16511-85E00-000

Filter Insert
100

67

28

with seal

16511-85E10
16511-85E10-000

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
48830-60B00

Application info
Swift 11 (03/89-12/04)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

48830-62J00
48830-63J00

Application info
Splash (01/08--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
48830-65D00

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

Front Axle Left
Front Axle Right
285

M14x1,5
M12x1,25

48830-60B20

Front Axle Left
Front Axle Right
305

M18x1,5
M12x1,25

48830-63J00-000

Front Axle Left
Front Axle Right
227

M16x1

M14x1,5

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Steering

33-16 030 0004

48830-60B00

616 0310018

48830-63J00

_

Swift Il (02/05--)

33-16 031 0002

48830-65D00

75



Suzuki
Steering

33-16 030 0007
48830-65J00

Application info
Grand Vitara Il (JB) (04/05--)

33-16 031 0005

48830-75F00

Application info
Ignis | (FH) (10/00-12/05)

33-16 031 0001

48830-76G00

e ——

Application info
Carry (FD) (02/99--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
48830-65J00

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

48830-75F00
48830-75F00-000

Wagon R+ | (EM) (10/97-05/00)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
48830-76G00

Jimny (09/98--)

M

Front Axle Left
Front Axle Right
343

M18x1,5
M14x1,5

48830-65J00-000

Front Axle Left
Front Axle Right
250

M14x1,5
M12x1,25

48830-78F00
48830-78F00-000

Front Axle Left
Front Axle Right
237

M14x1,5
M12x1,25

48830-77A00

EYLE’

Prroducts

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Axial rod

Notes

Length [mm]
Thread Measurement 1

Thread Measurement 2

References
48830-79J00

Counterpart
33-16 030 0005

Application info
SX4 (06/06--)

Axial rod

Notes

Length [mm]
Thread Measurement 1

Thread Measurement 2

References
48830-79J10

Counterpart
33-16 030 0006

Application info
SX4 (06/06-)

Axial rod

Notes

Length [mm]
Thread Measurement 1

Thread Measurement 2

References
48830-82000

Application info
Baleno (03/95-05/02)

Front Axle Right
334

M16x1

M14x1,5

48830-79J00-000

Front Axle Left
334

M16x1
M14x1,5

48830-79J10-000

Front Axle Left
Front Axle Right
272

M14x1,5
M12x1,25

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki
Steering

33-16 030 0006

48830-79J00

T SR — ]

33-16 030 0005

48830-79J10

_—

Swift | (10/83-12/89)

33-16 030 0002

48830-82000

77



Suzuki
Steering

616 031 0009

48830-86G00

Application info
Wagon R+ Il (MM) (05/00--)

616 020 0009

48810-60810

Application info

Alto V (GF) (01/09--)
Ignis 11 (09/03--)

33-16 020 0017

48810-65D00

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

78

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
48830-83E00

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

48810-60810
48810-63J00

Splash (01/08--)
Swift 11l (02/05--)

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
48810-65D00

Counterpart
33-16 0200018

M

Front Axle Left
Front Axle Right
245

M14x1,5
M12x1,25

48830-86G00

Front Axle Left
Front Axle Right
72

M12x1,25
M12x1,25

48810-83E02

Front Axle Right
175

M12X1,25
M14x1,5

48810-65D01

EYLE’

Prroducts

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Tierod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

48810-50G10
48810-60B00

Application info

Baleno (03/95-05/02)
Ignis | (FH) (10/00-12/05)
Liana (07/01--)

Tie rod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

48810-65J00
48810-65J00-000
48810-79J00

Application info
Grand Vitara |l (JB) (04/05--)

Tierod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

48810-60A00
48810-80000
48810-81A00

Counterpart
33-16 020 0021

Front Axle Left
Front Axle Right
71

M12x1,25
M12x1,25

48810-76G00
48810-82000

Front Axle Left
Front Axle Right
84

M12x1,25
M14x1,5

48810-79J00-000
48810-79J01
48810-79J01-000

86
M12x1,25
M16x1,5

48810-81A01
48810-83300

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Steering

33-16 020 0006
48810-76G00

Swift [ (10/83-12/89)
Swift I (03/89-12/04)
Wagon R+ | (EM) (10/97-05/00)

33-16 020 0001

48810-79J01

SX4 (06/06--)

33-16 020 0016
48810-81A00

79



SUZUki IM E)YLE(E

Steering Products

33-16 020 0016

48810-81A00

Tie rod end

Application info
Jimny (09/98--) $J(09/81-08/90)
Samurai (11/88-12/04)

616 0200010 e EtileTe

48810-83E01
Notes

Front Axle Left
Front Axle Right

Length [mm] 71
Thread Measurement 1 M12x1,25
Thread Measurement 2 M12x1,25
References
48810-83E00 48810-83E01

Application info

Wagon R+ Il (MM) (05/00--)

33-16 0200014 .
Tierod end

48810-84001

6 Notes
e Y Front Axle Left
= Front Axle Right
E? Length [mm] 74
S Thread Measurement 1 M12x1,25
Thread Measurement 2 M12x1,25
References
n | I 48810-84000 48810M84030
48810-84001
Application info
Alto | (06/82-12/85) Alto Il (EC), Ill (EF), IV (FF) (09/85--)

80 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Steering

33-16 020 0018

Tie rod end
48820-65D00

Notes

Front Axle Left
Length [mm] 175
Thread Measurement 1 M12x1,25
Thread Measurement 2 M14x1,5
References

48820-65D00

Counterpart
33-16 020 0017

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-16 020 0021

Tie rod end
48820-81A00

Notes
Length [mm] 86
Thread Measurement 1 M12x1,25
Thread Measurement 2 M16x1,5
with left-hand thread
References
48820-81A00 48820-81A01
Counterpart

33-16 0200016

Application info
Jimny (09/98--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 81



Suzuki

Suspension

34-16 010 0004

45200-62J00*

Application info
Splash (01/08--)

33-16 010 0002

Ball joint
Notes

Outer Diameter [mm)]

References

45200-62J00*
45200-72K00*

Swift 11 (02/05--)

MeEeYLE

Prroducts

Front Axle Left
Front Axle Right
Lower

40

45201-62J00*
45201-72K00*

Ball joint
45700-60A00

Notes
Front Axle Left
Front Axle Right
Lower

Thread Size M14x1,5
with accessories

References

45700-60A00

Application info
Vitara | (ET, TA) (07/88-10/02) X-90 (EL) (09/95-12/97)

29-16 050 0012 Control arm

45200-50E00

82

Notes

References

42451-69D00
45200-50E00
45200-69D00
45200-69DV0
45200-69DV1
45200-78000
45200-78002
45200-84000

Front Axle Left

Front Axle Right
Control Arm

with ball joint

with rubber mounting
Sheet Steel

45200-84000-000
45200A-70B00
45200A-78B00
45200M50E00
45200M79F00
45200M84000
45200M84022

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Suspension

MeEeYLE

Products

29-16 050 0012

Control arm
45200-50E00

Application info
Alto | (06/82-12/85) Alto Il (EC), lll (EF), IV (FF) (09/85--)

616 050 0025

Control arm
45200-75F20

Notes
Front Axle Left
Front Axle Right
Lower
Control Arm
with rubber mounting
Steel
References
45200-75F00 45200-75F21
45200-75F20
Parts list
614 610 0009 Control arm bushing
Application info
Wagon R+ | (EM) (10/97-05/00) Wagon R+ Il (MM) (05/00--)

616 050 0026

Control arm
45200-76G20

Notes
Front Axle Left
Front Axle Right
Lower
Control Arm
with rubber mounting 7
Length [mm] 290
Steel
References
45200-76G20 45200-84E00
45200-83E00 45200-85E00
Parts list
614 610 0009 Control arm bushing
Application info
Ignis 11 (09/03--) Wagon R+ Il (MM) (05/00--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 83



Suzuki

Suspension

84

33-16 0500013
45201-60E01

Application info
Swift 11 (03/89-12/04)

34-16 0500016

45201-62J00

Application info
Splash (01/08--)

Control arm

Notes

References

45200-60810
45200-60812
45201-50G10

Parts list
33-14 455 0002

Counterpart
33-16 050 0014

Control arm

Notes

References

45201-62J00
45201-62J00-000

Parts list
34-16 010 0004

Counterpart
34-16 050 0017

Swift Il (02/05--)

MeEeYLE

Prroducts

Front Axle Right
Lower

Control Arm

with rubber mounting
with ball joint

Sheet Steel

45201-60E01
45201-70C00

Control arm bushing

Front Axle Right
Lower

Control Arm

with rubber mounting
with ball joint

Sheet Steel

45201-72K00

Ball joint

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Suspension

33-16 050 0002

Control arm
45201-63GO01

Notes

Front Axle Right
Lower

Control Arm

with rubber mounting
with ball joint

Cast Steel

References
45201-63G01

Counterpart
33-16 050 0000

Application info
Baleno (03/95-05/02)

34-16 050 0011

Control arm 45201-67D01

Notes
Front Axle Right
Lower
Control Arm
with ball joint
with rubber mounting
Steel
References
45201-65D00 45201-67D00
45201-65D01 45201-67D01
Counterpart
34-16 050 0010
Application info
Grand Vitara | (FT, GT) (03/98-09/05)
34-16 0500018
Control arm
45201-78K00
Notes
Front Axle Right
Lower
Control Arm
with rubber mounting
with ball joint
Thread Size M14x1,5
Sheet Steel
References
45201-65J00 45201-78K00
Counterpart
34-16 050 0019

1197 Wulf Gaertner Autoparts AG - www.meyle.com 85



SUZUki IM E)YLE(E

Suspension Products

34-16 050 0018

45201-78K00

Control arm
Application info

Grand Vitara Il (JB) (04/05--)

33-16 050 0006

45201-79J00

Control arm

Notes
Front Axle Right
Lower
Control Arm
with rubber mounting
with ball joint
Sheet Steel
References
45201-54L20 45201-79J00-000
45201-79J00
Parts list
2146100035 Control arm bushing
Counterpart

33-16 050 0007

Application info
SX4 (06/06--)

33-16 050 0014

45202-60B01

Control arm

Notes

Front Axle Left

Lower

Control Arm

with rubber mounting
with ball joint

Sheet Steel

References

Application info
Swift Il (03/89-12/04)

86

45200-60820
45200-60821

45200-60822
45202-50G10

Parts list

33-14 455 0002

Counterpart
33-16 050 0013

45202-60B01
45202-60E01
45202-70C00

Control arm bushing

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Suspension

34-16 050 0017

Control arm
45202-62J00

Notes
Front Axle Left
Lower
Control Arm
with rubber mounting
with ball joint
Sheet Steel
References
45202-62J00 45202-72K00
45202-62J00-000
Parts list
34-16 010 0004 Ball joint
Counterpart
34-16 050 0016
Application info
Splash (01/08--) Swift Il (02/05--)

33-16 050 0000

Control arm 45202-63G01

Notes
Front Axle Left
Lower
Control Arm
with rubber mounting
with ball joint
Cast Steel
References
45202-63G01
Counterpart 7

33-16 050 0002

Application info
Baleno (03/95-05/02)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 87



SUZUki IM E)YLE(E

Suspension Products

34-16 050 0010
45202-67D01

Control arm

Notes
Front Axle Left
Lower
Control Arm
with ball joint
with rubber mounting
Steel
References
45202-65D00 45202-67D00
45202-65D01 45202-67D01
Counterpart

34-16 0500011

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

34-16 050 0019
45202-78K00

Control arm

Notes
Front Axle Left
Lower
Control Arm
with rubber mounting
with ball joint
Thread Size M14x1,5
Sheet Steel
References
45202-65J00 45202-78K00
Counterpart
7 34-16 050 0018

Application info
Grand Vitara Il (JB) (04/05--)

88 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Suspension

33-16 050 0007

Control arm
45202-79J00

Notes
Front Axle Left
Lower
Control Arm
with rubber mounting
with ball joint
Sheet Steel
References
45202-541.20 45202-79J00-000
45202-79J00
Parts list
2146100035 Control arm bushing
Counterpart

33-16 050 0006

Application info
SX4 (06/06--)

. 2146100035
Control arm bushin
g 45201-79J00*
Notes
Front Axle Left
Front Axle Right
Lower
Rear
Height [mm] 51
Outer Diameter [mm] 60
Inner Diameter [mm] 14
References
45201-54L.20* 45202-54L20*
45201-79J00* 45202-79J00%
45201-79J00-000* 45202-79J00-000* 7

Application info
SX4 (06/06--)

. 614610 0009
Control arm bushing
45261-84E00
Notes
Front Axle Left
Front Axle Right
Height [mm] 52
Outer Diameter [mm] 28
Inner Diameter [mm] 10
References
45261-77A10 45261A78B00

45261-84E00

1197 Wulf Gaertner Autoparts AG - www.meyle.com 89



SUZUki IM E)YLE(E

Suspension Products

614610 0009

Control arm bushing
45261-84E00

Application info
Ignis 11 (09/03--) Wagon R+ Il (MM) (05/00--)
Wagon R+ | (EM) (10/97-05/00)

33-14 455 0002

45530-70C00 Control arm bushing

Notes
Front Axle Left
Front Axle Right
inner
Lower
Height [mm] 50
Outer Diameter [mm)] 34
Inner Diameter [mm] 16
References
45530-50G00 45530-70C00
Application info
Swift 1 (10/83-12/89) Swift Il (03/89-12/04)

614 615 0002

Bushing, stabilizer
42451-76G00

Notes
Front Axle Left
Front Axle Right
Inner Diameter [mm] 16
References

42451-76G00

Application info

Ignis 11 (09/03--) Wagon R+ Il (MM) (05/00--)
Wagon R+ | (EM) (10/97-05/00)

90 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Stabilizer link @

Notes
Reinforced Version

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
42420-59J00

Application info
Liana (07/01--)

Stabilizer link

Notes

Thread Measurement 1
Thread Measurement 2

References

42311-60A00
42311-85C00

Application info

Grand Vitara | (FT, GT) (03/98-09/05)

Vitara | (ET, TA) (07/88-10/02)

Stabilizer link (HD)

Notes
Reinforced Version

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
42420-62J00

Application info
Splash (01/08--)

Front Axle Left
Front Axle Right
270

M10x1,5
M10x1,5
Coupling Rod

42420-59J00-M

Front Axle Left
Front Axle Right
M10x1,25
M10x1,25
Coupling Rod
with accessories

42420-60A00
42420-65D00

Front Axle Left
Front Axle Right
300

M10x1,5
M10x1,5
Coupling Rod

42420-63J00

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Suspension

33-16 060 0007/HD

42420-59J00

2 e

S

Yy I

X-90 (EL) (09/95-12/97)

33-16 060 0003

42420-60A00

33-16 060 0006/HD

42420-62J00

Swift Il (02/05--)

91



SUZUki IM E)YLE@)

Prroducts

Suspension

33-16 060 0005/HD

42420-65J00

Stabilizer link @

Notes

Reinforced Version
Front Axle Left
Front Axle Right

= - Length [mm] 300
Thread Measurement 1 M10x1,5
Thread Measurement 2 M10x1,5
- Coupling Rod

Application info

References
42420-65J00

Grand Vitara Il (JB) (04/05--)

216 060 0015/HD

42420-80J00

Stabilizer link (HO

Application info
SX4 (06/06--)

33-16 060 0000

42420-81A10

Application info
Jimny (09/98--)

92

Notes
Reinforced Version

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
42420-80J00

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
42420-81A10

Front Axle Left
Front Axle Right
270

M10x1,5
M10x1,5
Coupling Rod

Front Axle Left
Front Axle Right
93

M10x1,25
M10x1,25
Coupling Rod

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Suspension

30-16 060 0047/HD

42420M68K00

Stabilizer link @

Notes
Reinforced Version

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
42420M68K00

Application info
Alto V (GF) (01/09--)

Stabilizer link

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
46630-60B01

Application info
Baleno (03/95-05/02)

Ignis | (FH) (10/00-12/05)

Front Axle Left
Front Axle Right
285

M10x1,5
M10x1,5
Coupling Rod

Front Axle Left
Front Axle Right
80

M10x1,25
M8x1,25
Coupling Rod
with accessories

46630-60G00

Dust cover kit, shock absorber

Notes

Application info
Swift Il (03/89-12/04)

Front Axle
Kit

1197 Wulf Gaertner Autoparts AG - www.meyle.com

-

X5 |

Ignis 11 (09/03--)
Swift I1 (03/89-12/04)

33-16 060 0001

46630-60B01

. 1‘[

614 640 0000

93



SUZUki IM E)YLE(E

Prroducts

Suspension

33-26 623 0000
Shock absorber
41601-62J10
Notes
Front Axle Right
Twin-Tube
Gas Pressure
Suspension Strut
References
41601-51KA0 41601-62J10

41601-51KDO

Counterpart
33-26 623 0001

Application info

Splash (01/08--) Swift Il (02/05--)
33-26 623 0005
41601-64J00 Shock absorber
Notes
Front Axle Right
Twin-Tube
Gas Pressure
Suspension Strut
References

41601-64J00

Counterpart
33-26 623 0004

Application info
Grand Vitara Il (JB) (04/05--)

Shock absorber
41601-68D00
Notes
Front Axle Right
Twin-Tube
Gas Pressure
Suspension Strut
References
41068-65D11 41601-65D00
41068-65D20 41601-65D01
41068-65D21 41601-65D10
41068-65D30 41601-65D100
41601-52D00 41601-67D00
41601-54J00 41601-68D00
Counterpart
33-26 623 0002

94 Wulf Gaertner Autoparts AG - www.meyle.com 1197



Suzuki

Suspension

MeEeYLE

Products

33-26 623 0003
41601-68D00

Shock absorber

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-26 623 0001

Shock absorber
41602-62J10

Notes

Front Axle Left

Twin-Tube

Gas Pressure

Suspension Strut
References
41602-51KA0 41602-62J10

41602-51KDO

Counterpart
33-26 623 0000

Application info
Splash (01/08--) Swift IIl (02/05--)

33-26 623 0004
41602-64J00

Shock absorber

Notes
Front Axle Left
Twin-Tube
Gas Pressure
Suspension Strut
References

41602-64J00

Counterpart
33-26 623 0005

Application info
Grand Vitara Il (JB) (04/05--)

1197 Wulf Gaertner Autoparts AG - www.meyle.com 95



SUZUki IM E)YLE(E

Prroducts

Suspension

Shock absorber
41602-68D00
Notes
Front Axle Left
Twin-Tube
Gas Pressure
Suspension Strut
References
41069-65D11 41602-65D00
41069-65D20 41602-65D01
4106-965D21 41602-65D10
41069-65D30 41602-65D100
41602-52D00 41602-67D00
41602-54J00 41602-68D00
Counterpart

33-26 623 0003

Application info
Grand Vitara | (FT, GT) (03/98-09/05)

33-26 725 0001 Shock absorber

41700-60A00

Notes
Rear Axle
Twin-Tube
Gas Pressure
Top pin
Bottom eye
References
41700-56B00 41700-75D00
41700-60A00 41700-77E00
41700-60A01 41700-79E00
41700-65C00 41700-85510
41700-65D00 41700-85C10
7 41700-65D01 41700-85C20
41700-67D00 41700-A60A01

41700-67D01

Application info

Grand Vitara | (FT, GT) (03/98-09/05) X-90 (EL) (09/95-12/97)
Vitara | (ET, TA) (07/88-10/02)

96 Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Shock absorber

Notes

References
41700-65J00

Application info
Grand Vitara Il (JB) (04/05--)

Wheel bearing kit

Notes

Height 1 [mm]
Height 2 [mm]
Outer Diameter 1 [mm]
QOuter Diameter 2 [mm]
Inner Diameter 1 [mm]
Inner Diameter 2 [mm]

References

08123-62047
08123-62047-A00
08123-62057
09159-16011

Application info
Swift 1 (10/83-12/89)

Wheel bearing kit

Notes

Height [mm]
Outer Diameter [mm]
Inner Diameter [mm]

References
43440-51K00

Rear Axle
Twin-Tube
Gas Pressure
Top eye
Bottom eye

41700-65J10

Rear Axle left and right

with add-on material

09262-20069
09262-20069-A00
09262-25061

Front Axle left and right
with integrated sensor ring
36

72

40

with add-on material

1197 Wulf Gaertner Autoparts AG - www.meyle.com

Suzuki

Suspension

33-26 725 0002
41700-65J10

33-14 750 0001

08123-62047

Swift 11 (03/89-12/04)

614 650 0003

43440-51K00

97



Suzuki

Suspension

98

614 650 0003

43440-51K00

Application info

Splash (01/08--)
Swift Il (02/05--)

33-14 650 0001
43440-79J00

Application info
Swift Ill (02/05--)

614 752 0005
43421-86G00

Application info

Ignis 11 (09/03--)
Splash (01/08--)

Wheel bearing kit

Swift IV (10/10--)

Wheel bearing kit

Notes

Height [mm]
Outer Diameter [mm)]
Inner Diameter [mm]

References
43440-79J00

SX4 (06/06--)

Wheel hub

Notes

Rim Hole Number
Bolt Hole Circle @ [mm]
Outer Diameter [mm]

References
43421-86G00

Swift 11l (02/05--)

Wagon R+ Il (MM) (05/00--)

MeEeYLE

Products

Front Axle left and right
with integrated ABS sensor
39

84

45

with add-on material

43440-80J00

Front Axle left and right
without wheel bearing
4

100

120

without add-on material

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index
MEYLE no. — Ref. no.

MeEe>LE

Prroducts

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page

Suzuki Suzuki

011 860 0000 18550-66G00 46 55810-84E01

014020 1039 00000-A01289 46 55810-84E01-000

025211 4215 55110-70A00 25 025 232 9614/W 55200-80E10 24
55110-80000 025233 1414/W 55200-65D00 24
55110-80010 55200-65D01
55110-80020 55200-65D10
55200-70810 55200-65D11
55200-81A10 55200-65D20
55200-81A31 55200-65D30

025213 3314/W 55200-60B10 25 0252350715 55810-76A00 30
55200-60B11 55810-76A01
55200-61880 55810-80G01
55200-61880-000 55810-80G02
55200-61880-B00 025236 6215/W 55810-75F10 29
55200-63810-B00 55810-75F12
55200-63810-DOM 025 237 9515/W 55810-64G00 28
55200-86810 55810-64G01
55200-86820 025238 1716/W 55810-54G00 27
55200-86830 55810-54G50
55300-86810 55810-54G60
55300-86820 55810-54G61

0252141814 00000-A00906 22 025 242 8016/W 55810-80J51 30
00000-A01225 025 242 8316/W 55810-68L00 28

025215 0014/W 55200-60A41 23 025 243 0115/W 55200-50J01 22
55200-63810 55200-50J02

025217 1914/W 55800-80J00 26 025243 4617/W 55200-65J00 24
55800-80J01 55200-65J10
55800-80J02 55200-65J11

025219 0715/W 55200-56831 23 55200-67D11
55200-56870 025 243 9116/W 55810-79J00 29
55200-56871 55810-79J10
55200-84A00 025244 0317/PD 55810-62J00 27

025 232 5316/PD 55200-83840-000 31 55810-62J20
55810-83E00 025 244 0317/W 55810-62J00 28
55810-83E00-000 55810-62J20
55810-83E00-B00 025248 7113/W 55800-77K00 26
55810-83E00-DOM 025 252 5814/W 55800-68L00 26
55810-84E00 029300 1200 - 3
55810-84E01 0293001213 = 3
55810-84E01-000 029330 1300 - 3

025232 5316/W 55200-83840-000 31 029 400 1600 - 4
55810-83E00 0294251700 - 4
55810-83E00-000 029 450 1800 - 4
55810-83E00-B00 029 475 1900 - 5
55810-83E00-DOM 029 500 2000 - 5
55810-84E00 0295302100 - 6

1197 Wulf Gaertner Autoparts AG - www.meyle.com

99



Index

MEYLE no.— Ref. no.

M

EYLE’

Prroducts

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page

Suzuki Suzuki

029 550 2200 = 6 45200-50E00

029 650 2600 - 6 45200-69D00

100 323 0007 15410-86CA3 67 45200-69DVO
15412-66CT1 45200-69DV1
15412-66G00 45200-78000

11-12321 0014 13780-73J00 60 45200-78002
13780-73J00-000 45200-84000

11-13 220 0001 17410-67G00 55 45200-84000-000

11-14 323 0000 15410-73J00 65 45200A-70B00
15410-73J00-000 45200A-78B00
15410-73J10 45200M50E00
15410-73J10-000 45200M79F00

11-14 533 0018 53200-62J01 32 45200M84000
53200-62J02 45200M84022

16-14 323 0007 15410-84A00 66 30-14 322 0000 16510-73001 69

16-14 860 0008 18550-80KA0 49 16510-73001-000
18550-80KA0-000 16510-73002

16-14 860 0010 18550-84A51 50 16510-73002-000

16-14 899 0011 13650-84CTO 51 16510-82001
13650-84CT0-000 30-16 060 0047/HD 42420M68K00 93
13660-84A00 31-12319 0006 95860-58J00 7

16-14 919 0005 15100-68DB1-LCP 68 95860-62J00

2123210014 13780-79J00 61 95860-62J00-000
13780-79J00-000 95860-63J10

2123210015 13780-76550 60 95860-63J10-000
13780-76550-000 31-12 320 0006 95860-63J10 7

2123210016 13780-79J80 62 95861-71L00
13780-79J80-000 31-14 533 0008 53200-81A01 34

214 322 0002 16510-66G00 73 33-12319 0001 95860-81A00 9
16510-66G02 95860-81A00-000
16510-86CAO0 95860-81A01
16510-86CA0-000 95860-81A01-000
16510-86CA0-PPS 95860-81A10
16510-86CBO 95860-81A10-000
16510-86CB1 95860-81A20

214323 0002 15412-67G00 67 95860-81A20-000
15412-86CTO 33-12319 0002 95861-54J00 9

2146100035 45201-54L20* 89 95861-54J00-000
45201-79J00* 33-123190003/S 95861-65D00 11
45201-79J00-000* 95861-65D00-000
45202-54L20* 33-12319 0004 95861-64J00 10
45202-79J00* 95861-64J00-000
45202-79J00-000* 95861-64J01

214 860 0000 18550-79J50 49 95861-64J01-000

216 060 0015/HD 42420-80J00 92 33-12319 0005 95861-M68K10 12

29-16 0500012 42451-69D00 82 95861-M68K10-000

100

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index
MEYLE no.— Ref. no.

MeEeYLE

Products

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page

Suzuki Suzuki
95861-M68K10-B00 13780-58B00-000

33-12319 0007 95861-54G00 9 13780-58BU0O
95861-54G00-000 13780-58BU0-000
95861-54G00-A00 33-12321 0008 13780-75F00 60
95861-54G00-B00 13780-75FU0

33-12319 0008 95860-80J00 8 33-12321 0009 13780-80GA0 62
95860-80J00-000 13780-80GA0-000

33-12320 0001 95860-81A00 8 33-123210010 13780-54G10 57
95860-81A00-000 13780-54G10-000
95860-81A01 33-123210011 13780-62J00 58
95860-81A01-000 13780-62J00-000
95860-81A10 33-12321 0012 13780-65J00 59
95860-81A10-000 13780-65J00-000
95860-81A20 33-12321 0013 13700-63J00 59
95860-81A20-000 13780-63J00

33-12 3200002 95861-54J00 10 13780-63J00-000
95861-54J00-000 33-12321 0014 13700-M68KAO0 64

33-123200003/S 95861-65D00 1 13780-68K00
95861-65D00-000 13780-M68K00
95861-65D00-A00 13780-M68K00-000

33-12 320 0004 95861-64J00 11 33-12321 0015 13780-57L00 57
95861-64J00-000 33-13 220 0000 17400-73001 54
95861-64J01 17400-73002
95861-64J01-000 17400-73820

33-12321 0001 13780-77E00 61 17400-78101
13780-77EU0 17400-78820

33-12 321 0002 13780-54G00 56 17400-78821
13780-54G00-000 33-13220 0001 17400-60810 53

33-12321 0003 13780-60G00 58 17400-60811
13780-60G00-000 17400-60812
13780-60GUO 17400-60813
13780-60GU0-000 17400-60814
13780-65G50 17400-60815
13780-65G50-000 33-13 220 0002 17400-82820 55

33-12 321 0004 13780-81A00 62 17400-82822
13780-81A00-000 17400-82823
13780-82A00 17400-82824
13780-82A00-000 17400-82850

33-12321 0005 13780-60B00 58 17400-82851
13780-60B00-000 33-13 220 0004 17400-69G00 53
13780-86000 17400-69G01
13780-86000-000 17400-69G02
99000-990YJ-003 33-13 220 0005 17400-77810 54

33-12321 0006 13780-86G00 64 17400-77811
13780-86G00-000 17400-77812

33-12321 0007 13780-58B00 57 17400-77813

1197 Wulf Gaertner Autoparts AG - www.meyle.com

101



Index

MEYLE no.— Ref. no.

M

EYLE’

Prroducts

15401-80E00-000
15410-60B00

44102-63J00
44102-63J30

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page

Suzuki Suzuki
17400-77814 15410-60B00-000

33-13 220 0006 17400-73831 54 15410-60B01
17400-73832 15410-60B01-000
17400-73833 33-14 323 0005 15310-78F00 64
17400-80811 15310-78F01

33-14 016 0000 16510-73002 71 33-14 455 0002 45530-50G00 90
16510-73010 45530-70C00
16510-81400 33-14 495 0001 44118-60G00 39
16510-81420 44118-60G01
16510-82701 44118-75F01
16510-82702 44118-75F40
16510-82703 44118-75F60
16510-87701 44118-82022

33-14 322 0001 16510-61A02 68 33-14 495 0002 44118-60G42 38
16510-61A30 44118-64B10
16510-61A30-000 33-14 498 0006 44101-80E21 40
16510-61A31 44102-80E21
16510-85FA1 33-14 498 0007 44101-80E00 40
16510-85FUO 44101-80E01
16510-85FU0-000 44102-80E00

33-14 322 0002 16510-60B10 72 44102-80E01
16510-60B11 33-14 498 0009 44131-60A01 45
16510-85C00 44132-60A00

33-14322 0003 16510-83000 73 33-14498 0010 44101-62J90 42
16510-83001 44102-62J90
16510-83012 33-14498 0012 44101-77E00 43
16510-83012-000 44101-77E01
16510-85FA0 44102-77E00
16510-85FA0-000 44102-77E01
16510-B83000 44102-77E02

33-14 322 0004 16510-61A00 69 33-14498 0013 44101-67D00 43
16510-61A01 44101-67D01
16510-61A20 44102-67D00
16510-61A21 44102-78E00

33-14 322 0005 16510-M68K00 73 33-14498 0014 44102-72F00 42

33-14 323 0001 15310-75F00 66 33-14 498 0015 44101-81A00 41
15410-72F00 44102-81A00
15410-72F01 33-14498 0016 44101-75F20 40
15410-84380 44101-75F32

33-14 323 0002 15410-65D00 65 44102-75F20
15410-65D00-000 33-14498 0017 44101-79FA0 44
15410-65D10 44102-79FA0
15410-65D10-000 33-14498 0018 44101-63J00 42

33-14 323 0004 15401-80E00 65 44101-63J80

102

Wulf Gaertner Autoparts AG - www.meyle.com 1197



M

EYLE’

Products

MEYLE no.— Ref. no.

Index

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Suzuki Suzuki
44102-63J80 09262-20069
33-14498 0019 44102-M72F12 45 09262-20069-A00
44102-M72F21 09262-25061
33-14 498 0020 44101-54G50 41 33-15521 0000 55211-60A00 13
44102-54G50 33-15521 0002 55311-60B20 16
33-14 498 0021 44101-86G00 44 55311-60B30
44102-86G60 55311-80F00
33-14 531 0001 53401-76G00 37 55311-80F01
53401-76G01 33-15521 0003 55211-56B00 13
53401-76G02 33-15521 0004 55311-62J00 17
33-14 533 0000 53200-79J00 34 33-15521 0005 55311-79J01 19
33-14 533 0001 53200-60820 35 55311-79J02
53200-60821 55311-80J02
53210-60B00 33-15 521 0005/PD 55311-79J01 19
53210-60B10 55311-79J02
33-14 533 0002 53210-50E00 36 55311-80J02
53220-50E00 33-15521 0006 55211-65D11 14
53230-50E00 55211-65D12
53800-60800 33-15 521 0007/PD 55211-65J00 15
53800-70800 55211-65J01
53820-60F00 33-15521 0008 55311-M68K10 21
53820-70B00 33-15521 0009 55311-80G00 20
53830-60F00 55311-80G02
53830-70B00 33-155210010 55311-60G00 16
33-14 533 0003 53200-65D00 33 55311-60G01
53200-65D01 55311-61G00
53200-67D00 55311-61G01
33-14 533 0004 53200-70820 33 33-155210011 55311-62G00 17
33-14 533 0005 53200-60841 35 55311-62G01
53200-69G00 55311-62G02
53200-69G11 55311-62G03
53200-69G12 33-15521 0012 55311-75F00 18
53210-70C00 55311-M75F00
53210-70C10 33-155210013/PD 55311-68L00 18
33-14 533 0006 53200-76G00 34 33-15521 0015 55211-65D01 14
53200-76G10 55211-67D01
53200-76G20 33-15523 0001 43511-60G00 32
53200-76G50 43511-60G10
33-14 533 0007 54600-77K00 36 33-15523 0002/PD 55611-55L00 21
33-14 533 0008 53200-63J02 32 55611-55L01
33-14 650 0001 43440-79J00 98 33-15 523 0004/PD 55611-68L00 22
43440-80J00 33-16 010 0002 45700-60A00 82
33-14 750 0001 08123-62047 97 33-16 020 0001 48810-65J00 79

08123-62057
09159-16011

08123-62047-A00

48810-65J00-000
48810-79J00
48810-79J00-000

1197 Wulf Gaertner Autoparts AG - www.meyle.com

103



Index

MEYLE no.— Ref. no.

M

EYLE’

Prroducts

45200-60812
45201-50G10

41601-54J00
41601-65D00

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Suzuki Suzuki
48810-79J01 45201-60E01
48810-79J01-000 45201-70C00
33-16 020 0006 48810-50G10 79 33-16 050 0014 45200-60820 86
48810-60B00 45200-60821
48810-76G00 45200-60822
48810-82000 45202-50G10
33-16 020 0014 48810-84000 80 45202-60B01
48810-84001 45202-60E01
48810M84030 45202-70C00
33-16 020 0016 48810-60A00 79 33-16 060 0000 42420-81A10 92
48810-80000 33-16 060 0001 46630-60B01 93
48810-81A00 46630-60G00
48810-81A01 33-16 060 0003 42311-60A00 91
48810-83300 42311-85C00
33-16 020 0017 48810-65D00 78 42420-60A00
48810-65D01 42420-65D00
33-16 0200018 48820-65D00 81 33-16 060 0005/HD 42420-65J00 92
33-16 020 0021 48820-81A00 81 33-16 060 0006/HD 42420-62J00 91
48820-81A01 42420-63J00
33-16 030 0002 48830-82000 77 33-16 060 0007/HD 42420-59J00 91
33-16 030 0004 48830-60B00 75 42420-59J00-M
48830-60B20 33-26 623 0000 41601-51KA0 94
33-16 030 0005 48830-79J10 77 41601-51KD0O
48830-79J10-000 41601-62J10
33-16 030 0006 48830-79J00 77 33-26 623 0001 41602-51KA0 95
48830-79J00-000 41602-51KDO
33-16 030 0007 48830-65J00 76 41602-62J10
48830-65J00-000 33-26 623 0002 41069-65D11 96
33-16 031 0001 48830-76G00 76 41069-65D20
48830-77A00 4106-965D21
33-16 031 0002 48830-65D00 75 41069-65D30
33-16 031 0005 48830-75F00 76 41602-52D00
48830-75F00-000 41602-54J00
48830-78F00 41602-65D00
48830-78F00-000 41602-65D01
33-16 050 0000 45202-63G01 87 41602-65D10
33-16 050 0002 45201-63G01 85 41602-65D100
33-16 050 0006 45201-54L20 86 41602-67D00
45201-79J00 41602-68D00
45201-79J00-000 33-26 623 0003 41068-65D11 94
33-16 050 0007 45202-54L.20 89 41068-65D20
45202-79J00 41068-65D21
45202-79J00-000 41068-65D30
33-16 050 0013 45200-60810 84 41601-52D00

104

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index
MEYLE no.— Ref. no.

MeEYLE

Products

MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Suzuki Suzuki
41601-65D01 33-409100011 81850-86G00 2
41601-65D10 81850-86G00-X10
41601-65D100 81850-86G10
41601-67D00 81860-86G00
41601-68D00 81860-86G10
33-26 623 0004 41602-64J00 95 34-16 010 0004 45200-62J00* 82
33-26 623 0005 41601-64J00 94 45200-72K00*
33-26 725 0001 41700-56B00 96 45201-62J00*
41700-60A00 45201-72K00*
41700-60A01 34-16 050 0010 45202-65D00 88
41700-65C00 45202-65D01
41700-65D00 45202-67D00
41700-65D01 45202-67D01
41700-67D00 34-16 050 0011 45201-65D00 85
41700-67D01 45201-65D01
41700-75D00 45201-67D00
41700-77E00 45201-67D01
41700-79E00 34-16 050 0016 45201-62J00 84
41700-85510 45201-62J00-000
41700-85C10 45201-72K00
41700-85C20 34-16 050 0017 45202-62J00 87
41700-A60A01 45202-62J00-000
33-26 725 0002 41700-65J00 97 45202-72K00
41700-65J10 34-16 050 0018 45201-65J00 85
33-28 228 0000 17600-60813 52 45201-78K00
17670-65D00 34-16 050 0019 45202-65J00 88
17670-66D00 45202-78K00
17670-66D01 35-13220 0001 17400-78E00 55
17670-77E00 17400-78E01
33-40 910 0000 81850-83E10 1 35-14 322 0001 16510-78E00 70
81850-83E10-000 16516-78E00
81850-83E10-X10 16516-78E01
81850-84E00 35-14 495 0002 44118-51F00 38
81850-84E00-000 44118-60G71
33-40910 0001 81860-83E10 2 35-14 495 0003 44119-75F00 39
81860-83E10-000 44119-75F60
81860-83E10-X10 44119-78513
81860-84E00 36-12321 0017 13780-78K00 61
81860-84E00-000 36-12321 0018 13780-52D00 56
33-40 910 0002 81800-62831 1 13780-52D10
81850-62B20 37-14323 0016 15410-80C00 66
33-40 910 0003 81800-62841 1 15410-80C10
81860-62B20 23300-49145
33-409100010 81850-79J00 2 39-28 228 0000 17670-79000 52
81860-79J00 17670-79001
81860-79J01 56-15 521 0000 55211-82000 15

1197 Wulf Gaertner Autoparts AG - www.meyle.com

105



Index IM E)YLE®

MEYLE no.— Ref. no. Produets
MEYLE no. Ref. no. Page MEYLE no. Ref. no. Page
Suzuki Suzuki
55311-60B11 614498 0022 44101-83E11 44
55511-78400 44102-83E10
55511-78401 6145250001 51550-83E00 36
55511-82000 614 525 0002 51570-83E00 37
55511-82001 614 533 0000 53200-84E00 35

612 083 4008 13780-83E00 63 53200-86G00
13780-83E00-000 614610 0009 45261-77A10 89
13780-F83E00 45261-84E00

6123190010 95860-78F10 8 45261A78B00

6123190018 95860-51K00 7 614615 0002 42451-76G00 20
95860-51K00-000 614 640 0000 - 93

6123200015 99000-990N0 12 614 650 0003 43440-51K00 97

612321 0009 13780-84E50 63 614 752 0005 43421-86G00 98
13780-84E50-000 6148100001 13650-79J50 51

6123210010 13780-73KA0 63 13650-84E50
13780-73KA0-000 13650-84E51
13780-83G00 13650-84E52
13780-83G00-000 6155216023 55311-83E00 20

6123210011 13780-62J50 59 6155216039 55311-84E01 20
13780-62J50-000 55311-86G02
13780-62J51 616 020 0009 48810-60810 78
13780-62J51-000 48810-63J00

6132200002 17410-85E00 56 48810-83E02

613 220 0008 17400-51K00 52 616 0200010 48810-83E00 80

614 020 0007 18550-84E50 50 48810-83E01
18550-84E50-000 616 031 0009 48830-83E00 78
18550-DG171-A00 48830-86G00

614 065 0006 16510-84E00 72 6160310018 48830-62J00 75

614 322 0006 16511-85C00 74 48830-63J00
16511-85C00-000 48830-63J00-000
16511-85E00 616 050 0025 45200-75F00 83
16511-85E00-000 45200-75F20

614 322 0007 16510-N86J0 74 45200-75F21
16510-N86J0-000 616 050 0026 45200-76G20 83
16511-85E10 45200-83E00
16511-85E10-000 45200-84E00

m 6143220011 16510-79J50 71 45200-85E00

16510-79J50-000 714 020 0003 09900-HDI01 47

6143220016 16510-68L10 71 18550-67G00
16510-68L10-000 18550-67G00-000
16510-79)60 18550-67G10
16510-79J60-000 99912-65D00

614 323 0000 15415-67JA0 68 714 020 0004 18550-67G11 47

614 495 0002 44119-80E01 39 714 322 0005 16510-73000 69
44119-M79F00 16510-73001

6144950010 44118-51K90 38 16510-73002

106 Waulf Gaertner Autoparts AG - www.meyle.com 1197



Index

M EYLE’
Products= MEYLE no. — Ref. no.

MEYLE no. Ref. no. Page

Suzuki

16510-73010
16510-73012
16510-73013
16510-83010
7143220007 16510-73J00 70
16510-73J00-000
16510-73J01
16510-73J01-000
16510-73J02
16510-73J02-000

714 860 0002 18550-73J00 48
18550-73J00-000
714860 0003 09900-RF001 48

18550-78E00
18550-78E10
18550-78E11

1197 Wulf Gaertner Autoparts AG - www.meyle.com 107



Index

MeYLE’
Ref. no. — MEYLE no. Predases
Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki
00000-A00906 0252141814 22 13780-65G50 33-12 3210003 58
00000-A01225 0252141814 22 13780-65G50-000 33-12321 0003 58
00000-A01289 014020 1039 46 13780-65J00 33-123210012 59
08123-62047 33-14 750 0001 97 13780-65J00-000 33-12321 0012 59
08123-62047-A00 33-14 750 0001 97 13780-68K00 33-12321 0014 64
08123-62057 33-14 750 0001 97 13780-73J00 11-12321 0014 60
09159-16011 33-14 750 0001 97 13780-73J00-000 11-12321 0014 60
09262-20069 33-14 750 0001 97 13780-73KA0 6123210010 63
09262-20069-A00 33-14 750 0001 97 13780-73KA0-000 6123210010 63
09262-25061 33-14 750 0001 97 13780-75F00 33-12321 0008 60
09900-HDIO1 714 020 0003 47 13780-75FUO 33-12321 0008 60
09900-RF001 714 860 0003 48 13780-76550 2123210015 60
13650-79J50 6148100001 51 13780-76550-000 2123210015 60
13650-84CTO 16-14 899 0011 51 13780-77E00 33-12 3210001 61
13650-84CT0-000 16-14 899 0011 51 13780-77EUO 33-12321 0001 61
13650-84E50 6148100001 51 13780-78K00 36-12321 0017 61
13650-84E51 614 810 0001 51 13780-79J00 2123210014 61
13650-84E52 6148100001 51 13780-79J00-000 2123210014 61
13660-84A00 16-14 899 0011 51 13780-79J80 2123210016 62
13700-63J00 33-12321 0013 59 13780-79J80-000 2123210016 62
13700-M68KAO 33-12321 0014 64 13780-80GA0 33-12 321 0009 62
13780-52D00 36-123210018 56 13780-80GA0-000 33-12321 0009 62
13780-52D10 36-123210018 56 13780-81A00 33-12 321 0004 62
13780-54G00 33-12321 0002 56 13780-81A00-000 33-12321 0004 62
13780-54G00-000 33-12321 0002 56 13780-82A00 33-12 321 0004 62
13780-54G10 33-12321 0010 57 13780-82A00-000 33-12321 0004 62
13780-54G10-000 33-12321 0010 57 13780-83E00 612 083 4008 63
13780-57L00 33-12321 0015 57 13780-83E00-000 612083 4008 63
13780-58B00 33-12321 0007 57 13780-83G00 6123210010 63
13780-58B00-000 33-12321 0007 57 13780-83G00-000 6123210010 63
13780-58BUO 33-12321 0007 57 13780-84E50 612321 0009 63
13780-58BU0-000 33-12 3210007 57 13780-84E50-000 612321 0009 63
13780-60B00 33-12321 0005 58 13780-86000 33-12321 0005 58
13780-60B00-000 33-12 321 0005 58 13780-86000-000 33-12 3210005 58
13780-60G00 33-12 321 0003 58 13780-86G00 33-12 321 0006 64
13780-60G00-000 33-12321 0003 58 13780-86G00-000 33-12321 0006 64
13780-60GUO 33-12 3210003 58 13780-F83E00 612 083 4008 63
13780-60GU0-000 33-12321 0003 58 13780-M68K00 33-12321 0014 64
13780-62J00 33-123210011 58 13780-M68K00-000 33-12321 0014 64
13780-62J00-000 33-12321 0011 58 15100-68DB1-LCP 16-14 919 0005 68
13780-62J50 6123210011 59 15310-75F00 33-14 323 0001 66
m 13780-62J50-000 6123210011 59 15310-78F00 33-14 323 0005 64
13780-62J51 6123210011 59 15310-78F01 33-14 323 0005 64
13780-62J51-000 6123210011 59 15401-80E00 33-14 323 0004 65
13780-63J00 33-123210013 59 15401-80E00-000 33-14 323 0004 65
13780-63J00-000 33-123210013 59 15410-60B00 33-14 323 0004 65

108 Waulf Gaertner Autoparts AG - www.meyle.com 1197



Index
Ref. no.— MEYLE no.

MeEeYLE

Products

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki
15410-60B00-000 33-14 323 0004 65 714 322 0005
15410-60B01 33-14 323 0004 65 16510-73012 714322 0005 69
15410-60B01-000 33-14 323 0004 65 16510-73013 714 322 0005 69
15410-65D00 33-14 323 0002 65 16510-73J00 714322 0007 70
15410-65D00-000 33-14 323 0002 65 16510-73J00-000 714 322 0007 70
15410-65D10 33-14 323 0002 65 16510-73J01 714322 0007 70
15410-65D10-000 33-14 323 0002 65 16510-73J01-000 714 322 0007 70
15410-72F00 33-14 323 0001 66 16510-73J02 714322 0007 70
15410-72F01 33-14323 0001 66 16510-73J02-000 714 322 0007 70
15410-73J00 11-14 323 0000 65 16510-78E00 35-14322 0001 70
15410-73J00-000 11-14 323 0000 65 16510-79J50 6143220011 71
15410-73J10 11-14 323 0000 65 16510-79J50-000 6143220011 71
15410-73J10-000 11-14 323 0000 65 16510-79J60 6143220016 71
15410-80C00 37-14323 0016 66 16510-79J60-000 6143220016 71
15410-80C10 37-14323 0016 66 16510-81400 33-14 016 0000 71
15410-84380 33-14323 0001 66 16510-81420 33-14 016 0000 71
15410-84A00 16-14 323 0007 66 16510-82001 30-14 322 0000 69
15410-86CA3 100 323 0007 67 16510-82701 33-14 016 0000 71
15412-66CT1 100 323 0007 67 16510-82702 33-14 016 0000 71
15412-66G00 100 323 0007 67 16510-82703 33-14 016 0000 71
15412-67G00 214323 0002 67 16510-83000 33-14 322 0003 73
15412-86CTO 214323 0002 67 16510-83001 33-14322 0003 73
15415-67JA0 614 323 0000 68 16510-83010 714 322 0005 69
16510-60B10 33-14322 0002 72 16510-83012 33-14 3220003 73
16510-60B11 33-14 322 0002 72 16510-83012-000 33-14 322 0003 73
16510-61A00 33-14 322 0004 69 16510-84E00 614 065 0006 72
16510-61A01 33-14 322 0004 69 16510-85C00 33-14 322 0002 72
16510-61A02 33-14322 0001 68 16510-85FA0 33-14322 0003 73
16510-61A20 33-14 322 0004 69 16510-85FA0-000 33-14322 0003 73
16510-61A21 33-14 322 0004 69 16510-85FA1 33-14322 0001 68
16510-61A30 33-14322 0001 68 16510-85FUO 33-14322 0001 68
16510-61A30-000 33-14 322 0001 68 16510-85FU0-000 33-14322 0001 68
16510-61A31 33-14 3220001 68 16510-86CAO0 214 322 0002 73
16510-66G00 214322 0002 73 16510-86CA0-000 214322 0002 73
16510-66G02 214322 0002 73 16510-86CA0-PPS 214322 0002 73
16510-68L10 6143220016 71 16510-86CBO 214322 0002 73
16510-68L10-000 6143220016 71 16510-86CB1 214322 0002 73
16510-73000 714322 0005 69 16510-87701 33-14 016 0000 71
16510-73001 30-14 322 0000 69 16510-B83000 33-14 322 0003 73
714 322 0005 16510-M68K00 33-14 322 0005 73
16510-73001-000 30-14 322 0000 69 16510-N86J0 614322 0007 74
16510-73002 30-14 322 0000 69,71 16510-N86J0-000 614 322 0007 74
33-14 016 0000 16511-85C00 614 322 0006 74
714 322 0005 16511-85C00-000 614 322 0006 74
16510-73002-000 30-14 322 0000 69 16511-85E00 614 322 0006 74
16510-73010 33-14 016 0000 69,71 16511-85E00-000 614 322 0006 74

1197 Wulf Gaertner Autoparts AG - www.meyle.com

109



Index

Ref. no.— MEYLE no.

M

EYLE’

Prroducts

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki

16511-85E10 614 322 0007 74 18550-66G00 011 860 0000 46
16511-85E10-000 614322 0007 74 18550-67G00 714020 0003 47
16516-78E00 35-14 322 0001 70 18550-67G00-000 714 020 0003 47
16516-78E01 35-14 322 0001 70 18550-67G10 714 020 0003 47
17400-51K00 613 220 0008 52 18550-67G11 714 020 0004 47
17400-60810 33-13220 0001 53 18550-73J00 714 860 0002 48
17400-60811 33-13220 0001 53 18550-73J00-000 714 860 0002 48
17400-60812 33-13220 0001 53 18550-78E00 714 860 0003 48
17400-60813 33-13220 0001 53 18550-78E10 714 860 0003 48
17400-60814 33-13220 0001 53 18550-78E11 714 860 0003 48
17400-60815 33-13220 0001 53 18550-79J50 214 860 0000 49
17400-69G00 33-13 220 0004 53 18550-80KA0 16-14 860 0008 49
17400-69G01 33-13 220 0004 53 18550-80KA0-000 16-14 860 0008 49
17400-69G02 33-13 220 0004 53 18550-84A51 16-14 860 0010 50
17400-73001 33-13 220 0000 54 18550-84E50 614 020 0007 50
17400-73002 33-13 220 0000 54 18550-84E50-000 614 020 0007 50
17400-73820 33-13 220 0000 54 18550-DG171-A00 614 020 0007 50
17400-73831 33-13 220 0006 54 23300-49145 37-14323 0016 66
17400-73832 33-13 220 0006 54 41068-65D11 33-26 623 0003 94
17400-73833 33-13 220 0006 54 41068-65D20 33-26 623 0003 94
17400-77810 33-13 220 0005 54 41068-65D21 33-26 623 0003 94
17400-77811 33-13 220 0005 54 41068-65D30 33-26 623 0003 94
17400-77812 33-13 220 0005 54 41069-65D11 33-26 623 0002 96
17400-77813 33-13 220 0005 54 41069-65D20 33-26 623 0002 96
17400-77814 33-13 220 0005 54 4106-965D21 33-26 623 0002 96
17400-78101 33-13220 0000 54 41069-65D30 33-26 623 0002 96
17400-78820 33-13 220 0000 54 41601-51KA0 33-26 623 0000 94
17400-78821 33-13220 0000 54 41601-51KDO 33-26 623 0000 94
17400-78E00 35-13220 0001 55 41601-52D00 33-26 623 0003 94
17400-78E01 35-13 2200001 55 41601-54J00 33-26 623 0003 94
17400-80811 33-13 220 0006 54 41601-62J10 33-26 623 0000 94
17400-82820 33-13 2200002 55 41601-64J00 33-26 623 0005 94
17400-82822 33-13 220 0002 55 41601-65D00 33-26 623 0003 94
17400-82823 33-13 2200002 55 41601-65D01 33-26 623 0003 94
17400-82824 33-13 220 0002 55 41601-65D10 33-26 623 0003 94
17400-82850 33-13 2200002 55 41601-65D100 33-26 623 0003 94
17400-82851 33-13 220 0002 55 41601-67D00 33-26 623 0003 94
17410-67G00 11-13 220 0001 55 41601-68D00 33-26 623 0003 94
17410-85E00 613 220 0002 56 41602-51KA0 33-26 623 0001 95
17600-60813 33-28 228 0000 52 41602-51KDO 33-26 623 0001 95
17670-65D00 33-28 228 0000 52 41602-52D00 33-26 623 0002 96
17670-66D00 33-28 228 0000 52 41602-54J00 33-26 623 0002 96
17670-66D01 33-28 228 0000 52 41602-62J10 33-26 623 0001 95
17670-77E00 33-28 228 0000 52 41602-64J00 33-26 623 0004 95
17670-79000 39-28 228 0000 52 41602-65D00 33-26 623 0002 96
17670-79001 39-28 228 0000 52 41602-65D01 33-26 623 0002 96

110

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index
Ref. no.— MEYLE no.

MeEeYLE

Products

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki

41602-65D10 33-26 623 0002 96 44101-67D01 33-14498 0013 43
41602-65D100 33-26 623 0002 96 44101-75F20 33-14498 0016 40
41602-67D00 33-26 623 0002 96 44101-75F32 33-14498 0016 40
41602-68D00 33-26 623 0002 96 44101-77E00 33-14498 0012 43
41700-56B00 33-26 725 0001 96 44101-77E01 33-14498 0012 43
41700-60A00 33-26 725 0001 96 44101-79FA0 33-14498 0017 44
41700-60A01 33-26 725 0001 96 44101-80E00 33-14 498 0007 40
41700-65C00 33-26 725 0001 96 44101-80E01 33-14 498 0007 40
41700-65D00 33-26 725 0001 96 44101-80E21 33-14 498 0006 40
41700-65D01 33-26 725 0001 96 44101-81A00 33-14498 0015 41
41700-65J00 33-26 725 0002 97 44101-83E11 614 498 0022 44
41700-65J10 33-26 725 0002 97 44101-86G00 33-14 498 0021 44
41700-67D00 33-26 725 0001 96 44102-54G50 33-14 498 0020 41
41700-67D01 33-26 725 0001 96 44102-62J90 33-14498 0010 42
41700-75D00 33-26 725 0001 96 44102-63J00 33-14498 0018 42
41700-77E00 33-26 725 0001 96 44102-63J30 33-14498 0018 42
41700-79E00 33-26 725 0001 96 44102-63J80 33-14498 0018 42
41700-85510 33-26 725 0001 96 44102-67D00 33-14498 0013 43
41700-85C10 33-26 725 0001 96 44102-72F00 33-14 498 0014 42
41700-85C20 33-26 725 0001 96 44102-75F20 33-14498 0016 40
41700-A60A01 33-26 725 0001 96 44102-77E00 33-14498 0012 43
42311-60A00 33-16 060 0003 91 44102-77E01 33-14498 0012 43
42311-85C00 33-16 060 0003 91 44102-77E02 33-14498 0012 43
42420-59J00 33-16 060 0007/HD 91 44102-78E00 33-14498 0013 43
42420-59J00-M 33-16 060 0007/HD 91 44102-79FA0 33-14498 0017 44
42420-60A00 33-16 060 0003 91 44102-80E00 33-14 498 0007 40
42420-62J00 33-16 060 0006/HD 91 44102-80E01 33-14 498 0007 40
42420-63J00 33-16 060 0006/HD 91 44102-80E21 33-14 498 0006 40
42420-65D00 33-16 060 0003 91 44102-81A00 33-14 498 0015 41
42420-65J00 33-16 060 0005/HD 92 44102-83E10 614 498 0022 44
42420-80J00 216 060 0015/HD 92 44102-86G60 33-14 498 0021 44
42420-81A10 33-16 060 0000 92 44102-M72F12 33-14498 0019 45
42420M68K00 30-16 060 0047/HD 93 44102-M72F21 33-14498 0019 45
42451-69D00 29-16 050 0012 82 44118-51F00 35-14 495 0002 38
42451-76G00 614615 0002 90 44118-51K90 614495 0010 38
43421-86G00 614752 0005 98 44118-60G00 33-14 495 0001 39
43440-51K00 614 650 0003 97 44118-60G01 33-14 495 0001 39
43440-79J00 33-14 650 0001 98 44118-60G42 33-14 495 0002 38
43440-80J00 33-14 650 0001 98 44118-60G71 35-14 495 0002 38
43511-60G00 33-15523 0001 32 44118-64B10 33-14 495 0002 38
43511-60G10 33-15523 0001 32 44118-75F01 33-14 495 0001 39
44101-54G50 33-14 498 0020 41 44118-75F40 33-14 495 0001 39
44101-62J90 33-14498 0010 42 44118-75F60 33-14 495 0001 39
44101-63J00 33-14498 0018 42 44118-82022 33-14495 0001 39
44101-63J80 33-14498 0018 42 44119-75F00 35-14 495 0003 39
44101-67D00 33-14498 0013 43 44119-75F60 35-14 495 0003 39

1197 Wulf Gaertner Autoparts AG - www.meyle.com

111



Index

MeYLE’
Ref. no. — MEYLE no. Preduses

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki

44119-78513 35-14 495 0003 39 45201-70C00 33-16 050 0013 84
44119-80E01 614 495 0002 39 45201-72K00 34-16 050 0016 82,84
44119-M79F00 614 495 0002 39 45201-72K00* 34-16 010 0004 82,84
44131-60A01 33-14 498 0009 45 45201-78K00 34-16 050 0018 85
44132-60A00 33-14 498 0009 45 45201-79J00 33-16 050 0006 86, 89
45200-50E00 29-16 050 0012 82 45201-79J00* 2146100035 86, 89
45200-60810 33-16 050 0013 84 45201-79J00-000 33-16 050 0006 86, 89
45200-60812 33-16 050 0013 84 45201-79J00-000* 2146100035 86, 89
45200-60820 33-16 050 0014 86 45202-50G10 33-16 050 0014 86
45200-60821 33-16 050 0014 86 45202-54L20 33-16 050 0007 89
45200-60822 33-16 050 0014 86 45202-54L20* 2146100035 89
45200-62J00* 34-16 010 0004 82 45202-60B01 33-16 050 0014 86
45200-69D00 29-16 050 0012 82 45202-60E01 33-16 050 0014 86
45200-69DV0 29-16 050 0012 82 45202-62J00 34-16 050 0017 87
45200-69DV1 29-16 050 0012 82 45202-62J00-000 34-16 050 0017 87
45200-72K00* 34-16 010 0004 82 45202-63G01 33-16 050 0000 87
45200-75F00 616 050 0025 83 45202-65D00 34-16 050 0010 88
45200-75F20 616 050 0025 83 45202-65D01 34-16 050 0010 88
45200-75F21 616 050 0025 83 45202-65J00 34-16 050 0019 88
45200-76G20 616 050 0026 83 45202-67D00 34-16 050 0010 88
45200-78000 29-16 050 0012 82 45202-67D01 34-16 050 0010 88
45200-78002 29-16 050 0012 82 45202-70C00 33-16 050 0014 86
45200-83E00 616 050 0026 83 45202-72K00 34-16 050 0017 87
45200-84000 29-16 050 0012 82 45202-78K00 34-16 050 0019 88
45200-84000-000 29-16 050 0012 82 45202-79J00 33-16 050 0007 89
45200-84E00 616 050 0026 83 45202-79J00* 2146100035 89
45200-85E00 616 050 0026 83 45202-79J00-000 33-16 050 0007 89
45200A-70B00 29-16 050 0012 82 45202-79J00-000* 2146100035 89
45200A-78B00 29-16 050 0012 82 45261-77A10 614610 0009 89
45200M50E00 29-16 050 0012 82 45261-84E00 614 610 0009 89
45200M79F00 29-16 050 0012 82 45261A78B00 614610 0009 89
45200M84000 29-16 050 0012 82 45530-50G00 33-14 455 0002 90
45200M84022 29-16 050 0012 82 45530-70C00 33-14 455 0002 920
45201-50G10 33-16 050 0013 84 45700-60A00 33-16 0100002 82
45201-54L20 33-16 050 0006 86, 89 46630-60B01 33-16 060 0001 93
45201-54L20* 2146100035 86, 89 46630-60G00 33-16 060 0001 93
45201-60E01 33-16 050 0013 84 48810-50G10 33-16 020 0006 79
45201-62J00 34-16 050 0016 82,84 48810-60810 616 020 0009 78
45201-62J00* 34-16 010 0004 82,84 48810-60A00 33-16 020 0016 79
45201-62J00-000 34-16 050 0016 84 48810-60B00 33-16 020 0006 79
45201-63G01 33-16 050 0002 85 48810-63J00 616 020 0009 78
45201-65D00 34-16 050 0011 85 48810-65D00 33-16 0200017 78
45201-65D01 34-16 050 0011 85 48810-65D01 33-16 020 0017 78
45201-65J00 34-16 050 0018 85 48810-65J00 33-16 020 0001 79
45201-67D00 34-16 050 0011 85 48810-65J00-000 33-16 020 0001 79
45201-67D01 34-16 050 0011 85 48810-76G00 33-16 020 0006 79

112

Wulf Gaertner Autoparts AG - www.meyle.com 1197



Index
Ref. no.— MEYLE no.

MeEeYLE

Products

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki

48810-79J00 33-16 020 0001 79 53200-63J02 33-14 533 0008 32
48810-79J00-000 33-16 020 0001 79 53200-65D00 33-14 533 0003 33
48810-79J01 33-16 020 0001 79 53200-65D01 33-14 533 0003 33
48810-79J01-000 33-16 020 0001 79 53200-67D00 33-14 533 0003 33
48810-80000 33-16 020 0016 79 53200-69G00 33-14 533 0005 35
48810-81A00 33-16 020 0016 79 53200-69G11 33-14 533 0005 35
48810-81A01 33-16 020 0016 79 53200-69G12 33-14 533 0005 35
48810-82000 33-16 020 0006 79 53200-70820 33-14 533 0004 33
48810-83300 33-16 020 0016 79 53200-76G00 33-14 533 0006 34
48810-83E00 616 020 0010 80 53200-76G10 33-14 533 0006 34
48810-83E01 616 020 0010 80 53200-76G20 33-14 533 0006 34
48810-83E02 616 020 0009 78 53200-76G50 33-14 533 0006 34
48810-84000 33-16 020 0014 80 53200-79J00 33-14 533 0000 34
48810-84001 33-16 020 0014 80 53200-81A01 31-14 533 0008 34
48810M84030 33-16 020 0014 80 53200-84E00 614 533 0000 35
48820-65D00 33-16 0200018 81 53200-86G00 614 533 0000 35
48820-81A00 33-16 020 0021 81 53210-50E00 33-14 533 0002 36
48820-81A01 33-16 020 0021 81 53210-60B00 33-14 533 0001 35
48830-60B00 33-16 030 0004 75 53210-60B10 33-14 533 0001 35
48830-60B20 33-16 030 0004 75 53210-70C00 33-14 533 0005 35
48830-62J00 616 031 0018 75 53210-70C10 33-14 533 0005 35
48830-63J00 616 031 0018 75 53220-50E00 33-14 533 0002 36
48830-63J00-000 616 031 0018 75 53230-50E00 33-14 533 0002 36
48830-65D00 33-16 031 0002 75 53401-76G00 33-14 531 0001 37
48830-65J00 33-16 030 0007 76 53401-76G01 33-14 531 0001 37
48830-65J00-000 33-16 030 0007 76 53401-76G02 33-14 531 0001 37
48830-75F00 33-16 031 0005 76 53800-60800 33-14 533 0002 36
48830-75F00-000 33-16 031 0005 76 53800-70800 33-14 533 0002 36
48830-76G00 33-16 031 0001 76 53820-60F00 33-14 533 0002 36
48830-77A00 33-16 031 0001 76 53820-70B00 33-14 533 0002 36
48830-78F00 33-16 031 0005 76 53830-60F00 33-14 533 0002 36
48830-78F00-000 33-16 031 0005 76 53830-70B00 33-14 533 0002 36
48830-79J00 33-16 030 0006 77 54600-77K00 33-14 533 0007 36
48830-79J00-000 33-16 030 0006 77 55110-70A00 0252114215 25
48830-79J10 33-16 030 0005 77 55110-80000 025211 4215 25
48830-79J10-000 33-16 030 0005 77 55110-80010 0252114215 25
48830-82000 33-16 030 0002 77 55110-80020 025211 4215 25
48830-83E00 616 031 0009 78 55200-50J01 025243 0115/W 22
48830-86G00 616 031 0009 78 55200-50J02 025243 0115/W 22
51550-83E00 614 5250001 36 55200-56831 025219 0715/W 23
51570-83E00 614 525 0002 37 55200-56870 025219 0715/W 23
53200-60820 33-14 533 0001 35 55200-56871 025219 0715/W 23
53200-60821 33-14 533 0001 35 55200-60A41 025215 0014/W 23
53200-60841 33-14 533 0005 35 55200-60B10 025213 3314/W 25
53200-62J01 11-14533 0018 32 55200-60B11 025213 3314/W 25
53200-62J02 11-14533 0018 32 55200-61880 025213 3314/W 25

1197 Wulf Gaertner Autoparts AG - www.meyle.com

113



Index

MeYLE’
Ref. no. — MEYLE no. Preduses

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki
55200-61880-000 025213 3314/W 25 55311-62G03 33-15521 0011 17
55200-61880-B00 025213 3314/W 25 55311-62J00 33-15521 0004 17
55200-63810 025 215 0014/W 23 55311-68L00 33-155210013/PD 18
55200-63810-B00 025213 3314/W 25 55311-75F00 33-155210012 18
55200-63810-DOM 025213 3314/W 25 55311-79J01 33-15521 0005 19
55200-65D00 025 233 1414/W 24 33-15521 0005/PD
55200-65D01 025 233 1414/W 24 55311-79J02 33-15 521 0005 19
55200-65D10 025 233 1414/W 24 33-15521 0005/PD
55200-65D11 025 233 1414/W 24 55311-80F00 33-15521 0002 16
55200-65D20 025 233 1414/W 24 55311-80F01 33-15 521 0002 16
55200-65D30 025 233 1414/W 24 55311-80G00 33-15521 0009 20
55200-65J00 025 243 4617/W 24 55311-80G02 33-15521 0009 20
55200-65J10 025 243 4617/W 24 55311-80J02 33-15521 0005 19
55200-65J11 025243 4617/W 24 33-15521 0005/PD
55200-67D11 025 243 4617/W 24 55311-83E00 615521 6023 20
55200-70810 0252114215 25 55311-84E01 615521 6039 20
55200-80E10 025 232 9614/W 24 55311-86G02 615521 6039 20
55200-81A10 0252114215 25 55311-M68K10 33-15521 0008 21
55200-81A31 025211 4215 25 55311-M75F00 33-155210012 18
55200-83840-000 025232 5316/PD 31 55511-78400 56-15521 0000 15

025 232 5316/W 55511-78401 56-15 521 0000 15
55200-84A00 025219 0715/W 23 55511-82000 56-15 521 0000 15
55200-86810 025213 3314/W 25 55511-82001 56-15 521 0000 15
55200-86820 025213 3314/W 25 55611-55L00 33-15523 0002/PD 21
55200-86830 025213 3314/W 25 55611-55L01 33-15523 0002/PD 21
55211-56B00 33-15521 0003 13 55611-68L00 33-15523 0004/PD 22
55211-60A00 33-15521 0000 13 55800-68L00 025 252 5814/W 26
55211-65D01 33-155210015 14 55800-77K00 025248 7113/W 26
55211-65D11 33-15521 0006 14 55800-80J00 025217 1914/W 26
55211-65D12 33-15521 0006 14 55800-80J01 025217 1914/W 26
55211-65J00 33-15521 0007/PD 15 55800-80J02 025217 1914/W 26
55211-65J01 33-15 521 0007/PD 15 55810-54G00 025238 1716/W 27
55211-67D01 33-15521 0015 14 55810-54G50 025238 1716/W 27
55211-82000 56-15 521 0000 15 55810-54G60 025238 1716/W 27
55300-86810 025213 3314/W 25 55810-54G61 025238 1716/W 27
55300-86820 025213 3314/W 25 55810-62J00 025244 0317/PD 27-28
55311-60B11 56-15521 0000 15 025244 0317/W
55311-60B20 33-15521 0002 16 55810-62J20 025 244 0317/PD 27-28
55311-60B30 33-15521 0002 16 025 244 0317/W
55311-60G00 33-15521 0010 16 55810-64G00 025 237 9515/W 28
55311-60G01 33-15521 0010 16 55810-64G01 025237 9515/W 28
55311-61G00 33-15521 0010 16 55810-68L00 025 242 8316/W 28
55311-61G01 33-15521 0010 16 55810-75F10 025 236 6215/W 29
55311-62G00 33-15521 0011 17 55810-75F12 025 236 6215/W 29
55311-62G01 33-15521 0011 17 55810-76A00 025 2350715 30
55311-62G02 33-155210011 17 55810-76A01 0252350715 30

114

Wulf Gaertner Autoparts AG - www.meyle.com 1197



MeEeYLE

Products

Ref. no.— MEYLE no.

Index

Ref. no. MEYLE no. Page Ref. no. MEYLE no. Page
Suzuki Suzuki
55810-79J00 025 243 9116/W 29 95860-63J10 31-12319 0006 7
55810-79J10 025243 9116/W 29 31-12320 0006
55810-80G01 0252350715 30 95860-63J10-000 31-12319 0006 7
55810-80G02 0252350715 30 95860-78F10 6123190010 8
55810-80J51 025 242 8016/W 30 95860-80J00 33-12319 0008 8
55810-83E00 025232 5316/PD 31 95860-80J00-000 33-12319 0008 8

025232 5316/W 95860-81A00 33-12319 0001 8-9
55810-83E00-000 025232 5316/PD 31 33-12320 0001

025232 5316/W 95860-81A00-000 33-123190001 8-9
55810-83E00-B00 025232 5316/PD 31 33-12320 0001

025232 5316/W 95860-81A01 33-12319 0001 8-9
55810-83E00-DOM 025232 5316/PD 31 33-12320 0001

025 232 5316/W 95860-81A01-000 33-12319 0001 8-9
55810-84E00 025232 5316/PD 31 33-12320 0001

025232 5316/W 95860-81A10 33-12319 0001 8-9
55810-84E01 025232 5316/PD 31 33-12320 0001

025 232 5316/W 95860-81A10-000 33-12319 0001 8-9
55810-84E01-000 025232 5316/PD 31 33-12320 0001

025232 5316/W 95860-81A20 33-12319 0001 8-9
81800-62831 33-40910 0002 1 33-12320 0001
81800-62841 33-40 910 0003 1 95860-81A20-000 33-12319 0001 8-9
81850-62B20 33-40 910 0002 1 33-12320 0001
81850-79J00 33-409100010 2 95861-54G00 33-12319 0007 9
81850-83E10 33-40 910 0000 1 95861-54G00-000 33-12319 0007 9
81850-83E10-000 33-40910 0000 1 95861-54G00-A00 33-12319 0007 9
81850-83E10-X10 33-40 910 0000 1 95861-54G00-B00 33-12319 0007 9
81850-84E00 33-40910 0000 1 95861-54J00 33-12319 0002 9-10
81850-84E00-000 33-40910 0000 1 33-12320 0002
81850-86G00 33-409100011 2 95861-54J00-000 33-123190002 9-10
81850-86G00-X10 33-40910 0011 2 33-12320 0002
81850-86G10 33-409100011 2 95861-64J00 33-12319 0004 10-11
81860-62B20 33-40910 0003 1 33-12 320 0004
81860-79J00 33-409100010 2 95861-64J00-000 33-12319 0004 10-11
81860-79J01 33-409100010 2 33-12320 0004
81860-83E10 33-40910 0001 2 95861-64J01 33-12319 0004 10-11
81860-83E10-000 33-40910 0001 2 33-12 320 0004
81860-83E10-X10 33-40910 0001 2 95861-64J01-000 33-12319 0004 10-11
81860-84E00 33-40910 0001 2 33-12320 0004
81860-84E00-000 33-40910 0001 2 95861-65D00 33-12 319 0003/S 1
81860-86G00 33-409100011 2 33-12 320 0003/S
81860-86G10 33-409100011 2 95861-65D00-000 33-12319 0003/S 1
95860-51K00 6123190018 7 33-12320 0003/S
95860-51K00-000 6123190018 7 95861-65D00-A00 33-12 320 0003/S 1
95860-58J00 31-12319 0006 7 95861-71L00 31-12320 0006 7
95860-62J00 31-12319 0006 7 95861-M68K10 33-12319 0005 12
95860-62J00-000 31-12319 0006 7 95861-M68K10-000 33-12319 0005 12

1197 Wulf Gaertner Autoparts AG - www.meyle.com

115



Index

®
EYILIEE
Product
Ref. no.— MEYLE no. TesHeEs

Ref. no. MEYLE no. Page

Suzuki

95861-M68K10-B00 33-123190005 12

99000-990N0 6123200015 12

99000-990YJ-003 33-12 321 0005 58

99912-65D00 714 020 0003 47

116 Wulf Gaertner Autoparts AG - www.meyle.com 1197



